ST-2050 RRB CLERK (MAINS) 2020

Passage for Question 1, 2, 3, 4, 5 (ST-2047RRBPOMAINS(36-40R)2020)
eng Passage

Study the following information carefully and answer the questions below.

Ten friends G, H, I, J, K, L, M, N, O, P are ranked 1 to 10 (Top to Bottom) in a class test but not necessarily in the same order. They all like different fruits viz.
Papaya, Strawberry, Litchi, Mango, Cherry, Watermelon, Guava, Apple, Banana and Grapes but not necessarily in the same order.

The one who likes Mango stood 1st. I scores even-numbered rank and likes Grapes. I is three ranks above the one who likes Apple. There is a gap of five ranks
between I and the one who likes Watermelon. The Sum of N and J rank is equal to M’s rank. L stood 10th and he does not like Watermelon. N has four ranks less
than P and P likes Papaya. J is not ranked 3rd and does not like Watermelon. Y likes Litchi and is even-numbered rank. One who likes Banana is ranked lower
than the one who likes Apple. One who likes Grapes is five ranks higher than the one who likes Guava. O does not like Cherry. O is four ranks above K and does
not like Apple.

hi Passage

Fafafaa TTasrd &1 samgd® segaT L A= g agwi w s

AT G, H, 1,1, K, L, M, N, O, P U FelT T § 1 7 10 = (FHL T A1) TITT UL § AT T gl 3 26t 77 § gil F a7 e wefi- diar,
TR, AT, o9, =34, TS, THER, T, HeAT 3i¥ 3R[T FT TEHE FId § AT STELT Agl (4 THI g1 F7 | 2l
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FTA & &1 = T T AT g1 N 37T J T 3% FT T M HT 3% % a2raT gl L, 10 3 19 97 g 37 39 a7 68 Tei gl N, P H q IF FH g T P &l
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Q-1 How many persons are ranked between P and Y?
01. None 02. One
03. Two 04. Three
05. Four

Q-1 Py i i safen a1 ¥ A 2

01. s T2t 02. T
03. v 04. =
05. 91
Solution for Question 1 Ans Key: 2
1 J Mango
2 | Grapes
3 0 Strawberry
4 P Papaya
5 G Apple
6 Y Litchi
7 K Guava
8 N Watermelon
9 M Banana/Cherry
10 L Bananal/Cherry
hi
1 J A
2 | 301
L=

3 0 Iciadt



Q-2 If all the persons are arranged in alphabetical order from rank 1 to rank 10, position of how many persons remains unchanged?

02. One
04. Three

4 P utdiar
5 G Ja
6 Y cil<il
7 K 33wC
8 N Gl
9 M etr [ <l
10 L ool [ <l
eng
01. None
03. Two
05. Four

Q-2 Ty avfy srfrat 1 ¥ 1 7 3% 10 T FiaTen w9 § srafead B star g, ar fBraw safw safiafia wa &2

01. =&t
03. =7
05. 9T

Solution for Question 2

1

2

10

J

r = 2 >®X =< 6 TW 0

02. w=
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Mango

Grapes
Strawberry
Papaya

Apple

Litchi

Guava
Watermelon
Bananal/Cherry

Bananal/Cherry
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Q-3 N likes which of the following fruits?

Ans Key: 2



eng

01. Watermelon 02. Grapes
03. Cherry 04. Apple
05. Mango
Q-3 N &7 9 & & hi=-87 %l 763 22
hi
01. e 02. 3]1I{
03. = 04. I
05. =g
Solution for Question 3 Ans Key: 1
eng 1 J Mango
2 | Grapes
3 0] Strawberry
4 P Papaya
5 G Apple
6 Y Litchi
T K Guava
8 N Watermelon
9 M Bananal/Cherry
10 1L Bananal/Cherry
1 J 1A
2 | k1) 8
[ =
3 0 Igiast
4 = adiar
5 G B> (< |
6 Y cii<ht
7 K g
8 N [ BI: 5]
e
9 M ol [ <l
10 L ett [ ddt
Q-4 Who among the following likes Strawberry?
eng
01. | 02. G
03. p 04. O
05. Mm
Q-4 eferfea & & forr wgfady Toe 82
hi
01. | 02. G
03. p 04. O
05. M
Solution for Question 4 Ans Key: 4

eng

1 J

] |

Mango

Cranas



eng

3 0
4 P
5 G
6 Y
7 K
8 N
9 M
10 L
1 J
2 |
3 0
4 P
5 G
6 Y
7 K
8 N
9 M
10 i

b gt i alily . = O

Strawberry
Papaya

Apple

Litchi

Guava
Watermelon
Banana/Cherry

Banana/Cherry
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What is the sum of ranks of K and N?

01. 14
03. 12

05. None of these

K 3T N % ¥ %7 707 F=AT 22

01. 14

03. 12

05. =% & e TET

Solution for Question 5

1 J
2 |
3 0]
4 P
5 G
6 Y
7 K
8 N
9 M
10 L

02.
04.

02.
04.

Mango

Grapes
Strawberry
Papaya

Apple

Litchi

Guava
Watermelon
Bananal/Cherry

Bananal/Cherry

15
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Ans Key: 2
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9 M ert | ddt
10 L etr [ adl

Passage for Question 6, 7, 8, 9, 10 (ST-2020 SBI CLERK (MAINS) 2018 (R) 1-5)

eng Passage

Read the following informations carefully and answer the questions given below-

Eight persons JP, YY, VK, RP, PK, SS, AK and SP live on 8 different floors in a building the Ground floor is numbered 1, the first floor is numbered 2 and so on

until the topmost floor is numbered 8.

They are like different Professions i.e., Teacher, Engineer, Lawyer, Physician, Accountant, Consultant, Surgeon and Programmer but not necessarily in the same

order.

There are four floors between PK’s floor and JP’s floor. PK lives on an odd numbered floor. JP likes Surgeon. There are two floors between YY’s and PK’s floor.
The one who likes Accountant lives on immediate above the floor on which JP lives. VK lives immediately above AK. The one who likes Teacher lives on floor
number one. There is no floor between YYs floor and SP’s floor. RP does not live immediate above or below to PK’s floor. Only one person lives between the
persons who like Surgeon and Programmer. The one who likes Engineer lives immediately above the floor on which the person who likes Accountant. SP likes
Physician but does not live below to YY. SS likes Consultant.

hi Passage

o gaaTal F1 sATALA S TS T AR fa T WAt F AL R-

a3 =ARAT JP, YY, VK, RP, PK, SS, AK 3T SP U THIA | 8 STeT-STeT HioTel TT Tgd 8| ae ST 1 &, THF U i WioTeT il §eAT 2 § 3T ANy 4|

TRTE TIH FHIL 6T Fiorer T &1 8 Bl

T T - U THE FT ¢, S8 [9vereh, AT, ahrer, rihedsn, STaTehTe, IRTAeTeTaT, B9 ST TRITHT, S STt Agl (5 261 7 § 2l |

| PK =T wfSrer 3T JP &t forer & = =2 5fSrer 21 PK ua U oo g areft Giorer 9% T2ar 21 JP &9l 96 #edT gl YY ¥ PK &t gforer & = v
HISTeT &1 ST AGTHTE T THE FdT §, T8 S HIOTT o qeahTel SUT TgdT ¢ ore 9% JP TgaT 21 VK, AK F TehTel SU< aTeit HioTel ¢ ¥gaT gl 9g ST forereh
T THE FLAT ¢ 98 TgoiT Hioe U< TgdT gl YY =t JiSrer 3T SP 1 6fSrer & <= s 6iorer 721 21 RP, PK 7 §fSreT 3 qehter 30 a7 {19 72 Tgar 2
TSI 3T TUTHY THE FEA a7 & S el U 1<k L@l gl U ag ST ATHTAT Hl THE AT 8,98 39 HIoTel o qd U< Tgal &, sarahTe 98a

FAT gl SP e wee Far € S YY 3 == 78 T2ar g1 SS AATgshY THE H¥aT 2l

Q-6 On which floor SP lives?

eng
01. Third 02. Fourth
03. Fifth 04. Sixth
05. Seventh
Q-6 e WS 72 SP TEar 82
hi
01. FreeT 02. <o
03. gi=Er 04. a1
05. Hraem
Solution for Question 6 Ans Key: 3
eng +
8 VK ENGNEER

7| AK ACCOUNTANT




6| IP SURGEON
5| 5P PHYSICIAN
4| YY PROGRAMMER
3 | RP LOWYER
2|55 CONSULTANT
1|PK TEACHER
hi g
8 VK Hyd
7 AK TEPR
6 P ToA
5 sp Rfeas
4 YY TR
3 RP ddld
Q-7 How many floors are below the floor on which AK lives?
01. Three 02. Four
03. Five 04. Six
05. Seven

Q-7 39 Tiorer & i+ Fohae Aforer € o 9% AK Tgar 22

01. fi= 02. =TT
03. = 4. =
05. 919
Solution for Question 7 Ans Key: 4
g [ VK ENGNEER
7 | Ak ACCOUNTANT
6P SURGEON
5| sp PHYSICIAN
4| vy PROGRAMMER
3|re LOWYER
2| ss CONSULTANT
1|PK TEACHER
hi —
8 VK HHHdl
7 AK TEOR
6 TP HaH
5 sp fufFE®
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Q-8 Who among the following lives on the second floor?
eng
01. sS 02. RP
03. AK 04. VK
05. JP
Q-8 AL wivrer wv et ® | #1e |7 wgar 82
hi
01. SS 02. RP
03. AK 04. VK
05. Jp
Solution for Question 8 AnsKey: 1
eng +
2 [we EMGNEER
7 | Ak ACCOUNTANT
6P SURGEON
5 sp PHYSICIAN
3| vy PROGRAMMER
alrp LOWYER
2| ss CONSULTANT
1| ek TEACHER
AR, TEER
5 SP FMibdEd
4 YY WUAR
3 RP d&ld
2 S§ R
1 PK Raih 3O
Q-9 Which Profession is liked by RP?
eng
01. Lawyer 02. Engineer
03. Accountant 04. Teacher
05. Programmer
Q-9 - |1 99T RP 5T 9 o S &2
hi
01. TH=r 02. srferqr
03. @ 04. sreTTw
05. qHUTHT
Solution for Question 9 Ans Key: 1



eng

Q-10

Q-10

g | VK EMNGMEER

7| AK ACCOUNTANT

6| P SURGEON

5| 5P PHYSICIAN

4. ¥Y PROGRAMMER

3 | RP LOWYER

2| 58 CONSULTANT

1|PK TEACHER
Which of the following is true with respect to YY?
01. likes Lawyer and lives on the 4th floor. 02.

03. YY likes Programmer and lives on the 4th  04.

floor

05. YY likes Teacher and lives on the 8th floor
YY % gey # efetaa § o #9 -ar g 22

01l. YY, o 98 Far 2 e =reft wisrer 02.

T TEAT 2l

03. YY, TTUTHT 99E /Al §, A< AT /s 04.

¥ TZaT 2l

05. YY, forersh =7 g AT g, T 8 A
Ao 7% TEaT B

Solution for Question 10

eng

3]
8 | VK ENGMEER
7| AK ACCOUNTANT
6(IP SURGEON
5| 5P PHYSICIAN
4 Yy PROGRAMMER
3 | RP LOWYER

YY likes Engineer and lives on the 8th floor

YY likes Accountant and lives on the 7th floor

YY, TETHT T8E AT g, AT 7 391 Hister 9¥ TaT gl

Ans Key: 3



2158 CONSULTANT

1| Pk [TEACHER

8 VK i

AK TEFR

JP oA

Sp THfdreEd

YY WOER

RP F&id

S RMEEEE

PK TRraies/ 3eue |

e L - A

7 Passage for Question 11, 12, 13, 14, 15 (ST-2050RRBCLERKMAINS(6-10R)2020)
eng Passage

Study the following information carefully and answer the question given below.

Eight person A, B, C, D, E, F, G and H are sitting around a circular table and facing towards the centre. All the persons are sitting along the circumference of the
circle at an equal distance between them. The radius (r) of the circle is 56m and the circumference of the circle is 2zr. Each of them likes different movies are
Inception, Spiderman, Jolly LLB, Dangal, Avengers, Hulk, Insidious, Mangal Pandey but not necessarily in the same orders.

G sits immediate left of H. The one who likes Dangal sits on the immediate right of C. There are only two people sit between the one who likes Spiderman and A.
The one who likes Avengers sits 88m away from the right of A. C doesn’t like Jolly LLB. The one who likes Insidious sits 88m away from the right B. A doesn’t
like Inception. The one who likes Inception is neither an immediate neighbour of the one who likes Hulk nor the one who likes Avengers. The one who likes Hulk
sits second to the right of F. F sits 88m away from the one who likes Avengers. E sits 176m away from B. E sits second to the left of the one who likes Jolly LLB.
C is neither an immediate neighbour of the one who likes Spiderman nor the one who likes Jolly LLB. The one who likes Inception sits 44m away from the one who
likes Jolly LLB.

hi Passage
afafaa ITasTd &1 samgd® qegga v AT A= RuagwrsrIacd

a3 ARE A, B, C, D, E, F, G 3T H UF TATHIT A & AT AT 77 0l AL @ Fh o9 g1 T ST<F T HH G 92 g 0l IR 92 95 g1 I T
e (v) 56 Y 8 T g1 7 IR 20 81 IAH H THF FT AAT-T ThoH ST SHWIH, TATSSTHA, el TAUALT, G, TASH, o, ST, He 7ie
THE § ST STE<l Aal (% 36T ot % 4 &l

G, H % TeTet a0 93T g1 g ST &3 THE FdT 8, a8 C o Tl aT0 9507 gl TATSSTHA THE FId AT 37 A F 1= Fael &1 ART 95 21 TIoTH THE e
FTAT ATE A F 0 F 88HT ¥ 43T gl C TNAT TAUAAT THE AT FqT g1 A ST SHATSTT THE FAT ¢ g B 210 & 88 HY 3T 2T 81 A THIT THg el
FIAT g T ST SHCLTT THE FAT @, 9 7 Al goh ST 7 gl TASTH THE FHI aTel FHT TS 1 o THE FI aTeAT Ak F % IT0 AT T 927 g1 F uaste
| THE FTA AT 7 88 W T AT 81 E, B H 176 HT 3T 93T | E, AT UAUAST THE Tl a1l SATH & AU AT AT F3T gl C T T TATSSTH 1T T & STt
TATAST THE FTA AT HT TR GEHT 81 SEHCT THE F ATAT STTeAT TATAS T THE FLeA AT o 44 H L T2T B

Q-11 Who sits third to the right of the one who likes Hulk?

eng

01. A 02. B
03. C 04. D
05. E
Q-11 T THE FIA AT % A0 T FIA 927 872
hi
01. A 02. B
03. C 04. D
05. E
Solution for Question 11 Ans Key: 1
eng F
Inception i
: 44
Spiderman 44
P = \ Jolly LLB
44 b6 44 4
Hulk Avengers
D
/N 4 e
Insidious Mangal Pandey
44 44
Dangal
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Q-12

eng

Q-12
hi

What is the position of F with respect to the one likes Jolly LLB?

01. TImmediate right 02. Tmmediate Left
03. Second to the left 04. Third to the left

0S. Third to the right
STt TAUAST T THE FIA AT F Gl | F it i #7282

01. Feprer aTE 02. qehRTe aTS
03. T2 AT AT 04. FTE AT qTET
05. =T < fraeT

Solution for Question 12

F
Inception

Spicgerman L Jolly LLB
Hulk A&ence*s
D
/N
Insidious Mangal Fandey

c

e

Dangal
A

F
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=

HIT 912

Ans Key: 1

Q-13

eng

How many persons sits between G and the one who likes Spiderman?

01. Two 02. Three
03. Four 04. Five

05. Cannot be determined

G 1T FATESTHT T THE FTA AT ATk 1 A0 [ FAT<h 950 82

01. v 02. =
03. =¥ 04. 9=
05. ferifea w2t foraT ST HFaT 8

Solution for Question 13

Ans Key: 5

eng

F
Inception
P H

Spiderman TN Jolly LLB



G
Hulk Avengers
D
N E
Insidious Mangal Pandey
C
Dangal
A
i F
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B
G
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A
Q-14  Whatis the position of A with respect to H?
eng
01. Second to the left 02. Third to the right
03. Immediate Right 04. Third to the left
05. Second to the right
Q-14 HFEIHH A HT FRafa 7 22

01. =T T AT
03. FehTer AT
05. =T AT gaeT

|
Ao
) &

02. =T ¥ e
04. FTE T T

>

&

Solution for Question 14 Ans Key: 4
F
Incepti
nception !
Spiderman
S \ Jolly LLB
G
Hulk Avengers
D
/N E
Insidious Mangal Pandey
C
Danga
A
hi 3
P H
: ST verTwEr
B
Boh G
2 eE
salEow E
c G AU AR
A
Q-15 Four of the following five are alike in a certain way and hence form a group. Which one of the following does not belong to the group?
eng
01. F- Avengers 02. A-Dangal
03. C-Hulk 04. E —Inception
05. D—Jolly LLB
Q-15 Fwfafed o= § & I UF [T as 8 UF 59 8 S S0 UF q9E a9 | [Hetarad § 9 Fid 97 998 § Gated Tai 87



01. F-wawy 02. A- el

03. C-go 04. E -
05. D - Sifeft Teuaat
Solution for Question 15 Ans Key: 2
eng F
Inception
& H
Spiderman
P = NP Jolly LLB
G
Hulk Avengers
D
/N E
Insidious Mangal Pandey
c
Dangal
A
Hl F
ZHTIE H
: ST wereerdr
B
g ~ G
= ey
sfeafeaw E
Q-16 In each question given below, three statements are followed by three conclusions numbered I, I and III. You have to take the given

statements to be true even if they seem to be at variance from the commonly known facts. Read the conclusions and decide which logically
follows. Give answer -

Statement:

No yellow is purple.

All purple are pink.

Only a few blue are purple.
Conclusion:

I) All pink can be blue.

II) Some purple are pink.

IIT) Some purple are not blue.

01. All conclusions I, IT and 111 follow 02. Only conclusions I and III follow
03.  Only conclusions II and II follow 04.  Only conclusion III follows

05. None of these
Q-16 MR fRTaTTAFTd, fA7Faafrgrwg AT fAswat 1 1 ST grer sgawer 553 s1a §1 srrdy g 1wt F1 geq qraar
hi &, T 1 T qTAT=Aq: 77 a1 & THATAT g &1 | o o2 shTqa AL P FIA-A7 AR F €T F ATAT FIAT 8| STLATIT -

EREH

FTE e ST TET 2

T ST TATET B

FAT FG ATl WA &
rewy:

T) T ATt e BT HHd 2
I0) 7 ST [T &)

III) T ST AT 781 8

01. o+t et I, 11 37 Il SR F2ad 21 02, Faer ey 1 =i [ a0 F:3d g
03. Fae fAehd [ 37 M STEeor Fxd gl 04, Faer ey 11 e a7 &
05. =% &S Tl
Solution for Question 16 Ans Key: 5

eng




Q-17

eng

Q-17

In each question given below, three statements are followed by three conclusions numbered I, II and III. You have to take the given
statements to be true even if they seem to be at variance from the commonly known facts. Read the conclusions and decide which logically
follows. Give answer -

Statement:

Only few Sony are JBL.

Only Phillips are noise.

AllJBL are Phillips.

Conclusion:

I) All noise are Phillips.

II) Some noise being Sony is a possibility.
IIT) Some Sony are Phillips.

01. All conclusions I, IT and III follow 02. Only conclusions I and III follow
03.  Only conclusions IT and III follow 04.  Only conclusion III follows

05. None of these
i frg g wed s g0 7, f7 w97 Reaw o7 = frewat 1, 10 S T grr aga<er Bhd S 1 ot feg 1 ot F7 geg qrasw
g, Mo 1 9 qTATq: A9 a1 & (A TAq grd 81| F5FY 92 siTTTHL TR FIA-ATATDF €T LA HLAT 7| STLTIC -

FT:

Faer Tohfere one 2l
Teft Srefruer ffores 81
sy

T) Tr+fr on fRfere 2

1) 7 977 o FIAT 21 T FA7aET 21
1) % J fRfore 2

P

01, 9T e I, 13T LI SIaRor Fed gl 02, &haef (9o [ Y 1 a0 7d 8l
03. Fae ohd 1Y M AqERT F#a gl 04 Faer Ao [ e F:3aT gl
05. =% FFTE T

Solution for Question 17 AnsKey: 1

eng

A
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Q-18

eng

Q-18

In each question given below, three statements are followed by three conclusions numbered I, II and III. You have to take the given
statements to be true even if they seem to be at variance from the commonly known facts. Read the conclusions and decide which logically

follows. Give answer -

Statement:

Some Delta are not Alpha.

Only a few Alpha are Beta.

No Beta is Data.

Conclusion:

I) All data can be Alpha.

II) All Alpha being data is a possibility.
IIT) No Beta is Delta.

01. All conclusions I, IT and TIT follow
03. Only conclusions I and III follow

05. None of these

02. Only conclusions I and 1T follow

04.  Only conclusion III follows

9 frr Ty s v &, 9 99 fre g g ST = fAsswt 1 11 ST g1 Srqa<or F6a SITa 8 | STt fR g T S9=1 &1 97 AT
&, T E1 T qTATT: F77 AT & THA T T g &1 | 5 92 shTqa a PR FA-a1qmid # €7 Aga0 Q1 g1 I A e -

FI:

IELED

1) TS 22T STohT 21 T 2

IT) Tt ST % 22T 21 T T TTaAT 2
1) 7% fiar Tear 721 2

01. &rsff fAeay I, 11 S [ STE=oT F:3d &
03. Farer fAea 11 7 11 STEer #7342
05. =% F TS TEH

Solution for Question 18

02. Fae freh [ 37 [ SIEeoT F7d &
04. Faet Aot 111 ST F¥aT gl

Ans Key: 5

¥




Q-19

eng

In each question given below, three statements are followed by three conclusions numbered I, II and III. You have to take the given
statements to be true even if they seem to be at variance from the commonly known facts. Read the conclusions and decide which logically
follows. Give answer -

Statement:

Few future are past.

All past are present.

Only a few past are delay.

Conclusion:

I) Some delay are future.

II) Some delay not being past is a possibility.
III) All past can be future.

01. All conclusions I, I and 111 follow 02. Only conclusions I and III follow
03. Only conclusions IT and I1I follow 04.  Only conclusion III follows

05. None of these
= frgruyds @, A7 w97 frgag g s fasset 1 10T g agawr 7653 sra €1 sras feg g w991 1 9eg /a1
&, T 1 S qTATq: 77 7T & THA TAiq gra g1 | FroFhe o2 shTga : P F1a-a1 qridh & €T/ Fqaw FIar1 g1 STLAe -

FI:

Tt a7 7= &

Ao

I) F= 3T FaT 2

1) %= 38 % oedid 7 219 ¥ TF S92

X3

II0) &t et wiesy 27 &9 2

01. =9fY Ao I, 11 3T I SIgeor Fed g1 02, &t fAed [ s [ AEeor 7d 2|
03. Faer (ohT 17 M TgERT F#xa g1 04, Faer Ao [ SIaeoT 7T 2|
05. =% & TS T2

Solution for Question 19 Ans Key: 3

Q-20

eng

In each question given below, three statements are followed by three conclusions numbered I, II and III. You have to take the given
statements to be true even if they seem to be at variance from the commonly known facts. Read the conclusions and decide which logically
follows. Give answer -

Statement:

No Career is good.

All career are exam.

Only a few result are exam.
Conclusion:

I) Some exam are not good.
II) No good is exam.

IIT) All good can be exam.



01. All conclusions I, I and I1I follow 02. Only conclusions I and III follow
03.  Only conclusions II and III follow 04.  Only conclusion III follows

05. None of these
Q-20 A RTTTTAFITH, T FIT IFTATE T AT TAswuT 1, I ST LT A 3563 a8 | TS| FET TG FITT KT T ATAAT
hi &, T 1T qTHT=Aq: F77 AT & THA T g &1| o v shTqa oL P F1A-a1 q1idh# €7 & Agaw FIa1 81 ST ATw -

Y

FTE FIT A= Rl g

aoft R e 81

FAT Fg TILOTTH TEHEAT B
frewy:

1) e T =g 71 2

II) FTE 7= TEeT 721

TI1) Tt 375 LTt &1 Fadit &l

01. o+t Ao [, [1 317 [ oo Fea &1 02, Faer ey 1 =i [ a0 F:3d g
03. Fae fAehd [ 37 [ STERor Fxd g1 04, Faer oy 111 a0 a7 &l
05. =% T FIS AT
Solution for Question 20 Ans Key: 2

eng

Passage for Question 21, 22, 23, 24, 25 (ST-2050RRBCLERKMAINS(21-25R)2020)
eng Passage

Study the following information carefully and answer the questions beiow:

Seven persons Kamal, Lucky, Mohan, Naman, Okesh, Parvesh and Qmar are participated in annual day competition on seven different days of a week starting
from Monday to Sunday. The competition has different games like Hockey, Volleyball, Carrom, Table Tennis, Badminton, Kho-Kho and Cricket but not in the
necessarily order.

Qmar participate one of the days after Naman.

One person will be going to participate between Qmar and the one who will participate in Carrom.

Okesh does not participate in Carrom.

Parvesh neither participated in badminton nor Table tennis.

The one who will participate in Badminton participated before the one who participate in Table-Tennis.

At least two persons participated between the one who participate in Table Tennis and the one who participated in Badminton.

Naman participated on one of the days before the one who participated in Hockey. Two persons participated between Mohan and Qmar.

Neither Mohan nor Qmar like Volleyball.

The number of people who participate between Kamal and the one who participate Hockey is the same as the number of people who participated between Naman
and the one who like Kho-Kho.

Only one person will participate between the one who will participate in Volleyball and Kho-Kho.

Three persons were participated between Kamal and Parvesh. Kamal will participate one of the days before Parvesh.

The one who participate in Volleyball participated before the day on which Kamal participate.

hi Passage

afafaa TTasTd &1 eamyd® AeggT FL AT T v F s



AT AREAT FHA, AT, AT, THA, SHT, TLALT ¥ FHL AT TG T F g1 AT TATE F |G TT-3TT [t § a1 faae Tioantmar &
AR o g i ® giy, ateftater, #7w, Tao 2@, Ssfiien, gr-ar i e S Afvs g €, st sraers w9 7 920
THA F U [ 972 Fde AN 94T g

T TR FHL T ST FCH | THT &7, F = qR7 A 7 22 2

AT HIH H W T2 odT Bl

TTAY T T AT Sefiied § anT forar oiw 7 2Y Taer A /)

JefHed § 9N o ATl 7 Tad-2199 § WRT & aTel F 98l AT foram «m)

A AT § AW A AT ST TSTHaA § IR A AT F A1 FH F FH7 7 AR 7 TR form|

T grht H 907 & aTer ¥ U e ager AT foram am wge sire w0 o = <1 srfeat 7 9 form

FicArater it T 7 AT /g 37T T 21 FH

FHA ST FTAT H W7 o7 ATl o6 = ¥ TCAT T2t & ST 79T ST G- FT TE6E FA ATAL F S TRT A qTAT 6T TCAT F aa< 2l
FicATaleT ST GI-GT H T A 9T % A1 Fael Teh 1< AT <9

FHA 3T TN F S A ATRAT F AT ForaT am qwayer & ush &7 ager e arr o

FAETA H TR AT ATl 7 3 &7 7 TIger AT forar o e Fwer 7 s foram)

Q-21  Who will participate in Table -Tennis?
eng

01. Mohan 02. Kamal

03. Lucky 04. Qmar
05. Naman
Q-21 299299 | FIF AN 2

01. Hr 02.

FA
03. &t 04. FOvT
05. 999
Solution for Question 21 Ans Key: 2
Monday Naman Volleyball
Tuesday | Kamal Table-tennig
Wednesday | Okesh Kho-kho
Thursaday | mohan | Hockey
Friday luky | Camom |
Saturday | Parvesh Cricket |
| Sunday | Qmar Badminton
TR . FeRer or-gr
TR i g
Y R Eoe]
eiferary ookl fimre
LGRS I =iz
Q-22  On which day Mohan will participate in annual day?
eng
01. Friday 02. Saturday
03. Tuesday 04. Thursday
05. Monday
Q-22  aftF fEa® o7 Higd e fa wmr o
hi
01. IFaTE 02. orffam™
03. AT 04. IEATE
05. FrwaT

Solution for Question 22 Ans Key: 4



eng

Monday | Naman Volleybal
Tuesday | Kamal Table-tennis
Wednesday | Okesh Kho-kho
Thursaday | mohan Hockey
Friday Lucky Carrom
Saturday | Parvesh Cricket

Sunday Qmar Badminton
hi AR LGl afeiar
FTear FHA e e
TR s @
TR A g
YRR o =
ufFER ol firire
REELS T d=ffiea
Q-23 How many persons will participate between Carrom and Table-tennis?
eng
01. One 02. Two
03. Three 04. Four
05. Five
Q-23  F¥H Y zTae-2fA F i e sfcn T e
hi
01. ©= 02. =7
03. fi= 04. =TT
05. 9=
Solution for Question 23 Ans Key: 2
%[ Monday | Naman | Volleyball
Tuesday | Kamal Table-tennis
Wednesday | Okesh Khokho |
| Thursaday | mohan Hockey |
| Fridy | Lucky | Camom |
Saturday | Parvesh Cricket
Sunday Qmar Badminton
hi HoaR Ll afeiar
FTa FHA ow o
TwR i -
TR Ag g
YERIT ECod Eae )
ufFEr T firirz
REELS T dafdiea
Q-24  Which of the following day Lucky will participate?
eng

Q-24

01. Monday 02. Tuesday
03. Friday 04. Saturday
05. None of these

T Tae 6T § & T AT @92



01. gE™ 02. AR
03. HEEIES
05. =18 & #1E T
Solution for Question 24 Ans Key: 5
= Monday | Naman | Volleybal
Tuesday | Kamal Table-tennis
Wednesday | Okesh Kho-kho
Thursaday | mohan Hockey
Friday Lucky Carmom
Saturday | Parvesh Cricket
Sunday Qmar Badminton
hi FrFER o atehater
AT A Tow
awEn shwer wr-ar
afera T ==
Q-25  Which of the following combination is true regarding Volleyball?
01. Volleyball held on Monday. 02. Lucky will participate in Volleyball.
03. Qmar will participate in Carrom. 04. Volleyball held on Saturday.
05. None of these
Q-25  alefater & Hay § Aaferted § |9 #1991 62961 Jet 82
01. FIATEIA FT AATSTT AT T g3 02. T AfATEI H AR M|
03. FHATFIY H fZeaT & 04. FiATale FT AT AT T g3
05. =% FFTS T
Solution for Question 25 Ans Key: 1
| Monday | Naman Volleyball
Tuesday | Kamal Table-tennis
Wednesday | Okesh Kho-kho
Thursaday | mohan Hockey
Friday Lucky Carrom
Saturday | Parvesh Cricket
Sunday Qmar Badminton
hi AR ECal Freate
oA T ow e
TR 3w @@
TR A Fich
YFAT I Eae)
ufEar T frire
T I =l

Passage for Question 26, 27 (ST-20S0RRBCLERKMAINS(26-27R)2020)



eng Passage

Study the following information carefully and answer the question given below.

Statement- If you do not take the risk in your life you cannot achieve anything. In another way you can say, not taking risk is a bigger risk. Feeling comfortable with
status quo, holding back from challenges and not pursuing a bigger goal are the sheer reasons for a downfall. In this brisk-paced world, the only strategy that is
guaranteed to fail is not taking the risk. Cost of inaction is higher than what we can imagine.

(A) Stop thinking of outcome and don't let your eyes off your goal. It's Ok to fail! We learn from failure and gain experience helping us achieve bigger.

(B) There are no permanent jobs, you can be ousted from your seat at any moment, and not risking to be on the edge is a risky business.

(O) History establishes that we fail far more from timidity than we do from daring. Future favours the brave, dare to take the new goal. Failure is a part of every
success story and should be seen as a method for success.

(D) To explore all possibilities, to see the best part of you and to give wings to your journey, you must not deter to take the educated calculated risk.

(E) In sports, there is always a pressure to be on the top of the curve. Taking mind off the outcome makes players tough. They count on their preparation and don’t
focus on negative scenario before taking the battleground.

hi Passage

rafafag STaeTd £ 1 5qmga T stegaT R A= Ruarrarsrsac

FTTHA- T T 9 a7 & dFhe (FIFGT) FTAAAT TR HLQ & A1 T FFHT AT FT AT AT FLHFA | FFOA IH AT FETHA & [ A Fe
FTHTAATA FIATCH ISTH6e g | RATT F 79 A8 HgqH FAT, LAMAAT & T GSATN T CHF TST AT T AT, TAA HT ATEATAR HTCA & |
TH ASTIFATT ATAT G IHATH, STHRA I AT ATLE I qTAT THATH AT GHE HTATAAT T HIAT G | STAET KT IWT §H FIT FOTAT H T
ga afas AT

A) TIOTHF TR A AIAATITHE ATATAT A @I H T AYA AET A GLAGIN 3 | TARA AT IH g! TH AAHAGT & HIE@d & 3 T AWT WTH
FIA § T8 g6 g TST I FLA | AT T |

(B) 1S TATHT AT TET &, AT ForeY W1 au7 sra1 T & GerATATAFATE, LT H TITAT T AAT Hohe AT ATIT g |

() sfagra g wTaT g FF ga arga a FE1T ATqF GAITEAT & TARA §IQ & | AIAST #T ST qIGHT ALSAT F ATTEIATE AT AATAET AFA H1
AT TE@a 8| ATFAAT T ARAAT & 1 T T HT TH {ReaT g AT 3@ paar & g ua fAfyw € d @rIrararfyw)

(D) THT FATTATSA FT g & T, I H FATHIAT Y FT 3@ F T A TATAT HAATH T 7@ 7 % (G, T FT A5 TIH G dFe
¥ g AFEAT AR

(E)@H, oS TTEA FTEHAATIATT AT 8| TECOITH FATEIT I AT 1 &ATH H TGAT QAT FT RATHAT & STHGHAT | W fa &
IA T TEA 9 ATHT FATT TTATATHFL S TARTICHE TG €T T EATH & forqg H |

Q-26 Which among the following support the given statement in favour of ““who scared from outcomes™?

01. A 02. B
03. C 04. Both A and C

05. None of these
Q-26 fAwfafEd & & i "TROTTHT & T3 g F T § 30 0 FA F AT FAT1 52

01. A 02. B

03. C 04. TETASTC

05. it & AT
Solution for Question 26 Ans Key: 1
eng A Learning new skill developed new things in life. Stop thinking negative and believe in yourself. So, Only A is sufficient.
hi T AT HIG F STET H TS AIS1 T (G0 gaAT| THLHT =T a3 F2 AT g7 T2 38 F2) qA, Fad A TI7H 2

Q-27 Which of the following statements supports those who are not disappointed with failure and move towards new goals?
eng

01. OnlyBandC 02. A
03. B 04. C

05. Both Cand D
Q-27 Ao & & 9 A7 FA9 IT AN 7 GHET FLAT 2 ST THEAT & (42797 T4 81T & ST AT A& 67 T T2 82

01. FarB:fiTC 02. A
03. B 04. C
05. C sz DaMET

Solution for Question 27 Ans Key: 4




eng C

hi C

Passage for Question 28, 29, 30 (ST-2050RRBCLERKMAINS(28-30R)2020)
eng Passage

Study the following information carefully and answer the question given below.

In such questions, the relationships are represented by certain specific codes or symbols such as +, -, @, $, %, etc. The candidate is then required to analyses some
given codes to determine the relationship between a set of persons, or to express a given relationship in the coded form.
‘A*B’ means ‘A is the brother of B’

‘A+B’ means ‘B is the father of A’

‘A+B’ means ‘A is the sister of B’

‘A-B’ means ‘A is the mother of B’

‘A@B’ means ‘A is the husband of B’

hi Passage
Fafafaa ITasTd &1 eamgd® segaT L A= RuagwrsrIacd

T et |, Fredt #r g Aoy et av wdiwt S| 56 -, +, @, $,%, At gy g9rtar A 81 IFfEar i a9 SAtegt F 9 F S gay Reiia w w
foro #g; foro 1o e v frgpoor s At sraearRar gt 8, AT TRt R T ey i wifed 9 7 S5

‘A*B'&FTATE ‘A BHFTATE T

'A'B'HT AT T B'A' T fUAT 2

‘A+B'FTATZ A, Bfraga g’

‘A-B'FTATZ'A, BHRT AT’

‘A@B'FTANE A, BFTUAT

Q-28 Which of the following means “Q is the sister-in-law P”?

01. M-K@Q+P*L 02. K-Q+L@P*M
03. M=L@P+Q@K 04. K+Q-P@M*L
05. None of these

Q-28  TAwforiad ® & fargeht o2 8 "Q WTHT P g2

0. M- K@Q+P*L 02. K-Q+L@P*M
03. M~L@P+Q@K 04. K+Q-P@M*L
05. =8 A FIS Tal
Solution for Question 28 Ans Key: 2

K™
l- + -
Q = =P\

Q-29  Which of the following is true if the expression is ‘O + Q @ M +L- I’?
eng

01. Ois the son of M. 02. Jis the brother of O.
03. M is the aunt of J. 04. Q is father-in-law of J

05. None of these
Q-29 = afv=te 0+ Q @M +L-J 8, ar Mefortad | & #19 a1 Jaf &2


mailto:‘A@B’

01. O, M FT T2l 02. J, 0T HTE I
03. M, J#fr ==t 8| 04. QIFTHE
05. =H FF1E TS

Solution for Question 29

eng +
Q=M - i.
0 J
: +
Q=M - i.
0 J
Q-30 In the given expression is ‘T + J@ K- Q — E” how is E related to J?
01. Mother 02. Grandmother
03. Mother-in-law 04. Sister

05. None of these

Q-30 T Ff=AREI+J@K- Q- E’ E, J & 3w wahre weifar €2

Y

01. =T 02. gTat
03. =tsfr 04. =T
05. =% ¥ HIS Tal

Solution for Question 30

|
T_‘!‘=L—
1l E —
|

Q

Ans Key: 3

Ans Key: 2

eng Passage

necessary in the same order.

between A and B. F faces the person the one who sits to the immediate right of P.

Passage for Question 31, 32, 33, 34, 35 (ST-2050RRBCLERKMAINS(31-35R)2020)

Study the following information carefully and answer the question given below.

Twelve persons A, B, C,D, E, F,P,Q, R, S, T and U are sitting in two parallel rows with equidistance from each other but not necessarily in the same order. In
Row-1,P,Q, R, S, T and U are sitting and all of them are facing south and in Row-2, A, B, C, D, E and F are sitting and all of them are facing north but not

U faces one of the immediate neighbours of B. T sits one of the places to the right of Q. Only two persons are sitting between E and D. C is not an immediate
neighbour of D. As many persons sitting to the right of E is same as the number of persons sitting to the right of R and neither of them sits at the extreme ends of the
rows. R does not face B. T sits second to the left of the one who faces A and either one of them sits at the extreme ends of the rows. Only two persons are sitting




hi Passage

rafafag STasTd F 1 8a@gaF AFIT R AT RUATITFTIACRN

g ARE A, B, C, D, E, F,P,Q, R, S, T 3T U I HHTY UT<hdl § TH-TAL  THIT LT T I & Ao ST&<T q5i 14 UF & % & &l Row-1 H P, Q, R,
S, T3T U TS & ¥ o aedy aferor Y sz sfiv ufxe -2 ¥ A, B, C, D, E 3T F 93 ¢ 31T I AfY TTHAT FT T & ITAL AT T FH § SA9TF el

U, B & THaeqw TEIfei § 8 U 7 991 F2a1 g1 T, Q F aTS 3T U T T 95T gl Had &l ATk E 3T D F a1 95 g1 C, D & Tk TSIET 75 2l
E 7 3T 1T 95 S =ATF 2| 3TT¥ 3 a7 AT 96 AR ol ST % TH ¢ T 38 & s ff TfRA1 6 978 S 9% T80 957 21 R, B &1 ATHAT 751 2T
g1 T, A T |THAT F ATl o AT 3T FELT I5qT & 3T AT AT ITH & U GIhdl & 97 ) 9% J3a71 81 A 3T B F & 19 #ae a7 A<k 95 &, a8 oAfh Sl
P % AT 213 92T Bl

Q-31 Four of the five are alike in a certain way so form a group, then which does not belong to the group?

eng
01. S 02. Q
03. A 04. D
05. E
Q-31 o™ # ¥ = Uk e a8 & v 7 g § gafer Uk qg &1 &, S agg A qated @ g2
hi
01. s 02. Q
03. A 04. D
05. E
Solution for Question 31 Ans Key: 5

Q-32  How many persons are sitting between S and U?

eng
01. One 02. Two
03. Three 04. Four
05. Five
Q-32 S 3% U % &= fohaw =afxr o5 89
hi
01. ws 02. =7
03. fiF 04. =T
05. =
Solution for Question 32 Ans Key: 3
eng
| | | |




Q-33 What is the position of Q with respect to T?

eng
01. Second to the right 02. Third to the left
03. Third to the right 04. Fourth to the right
05. None of these

Q-33 3 i At Rl P
01. =i ofre gEer 02. 7 T T
03. T T fraT 04. TS 3T =TT

05. =H ¥ A2 TGl
Solution for Question 33

Q-34  What s the position of F with respect to E?
eng

01. Second to the right 02. Second to the left
03. Third to the right 04. Third to the left

05. None of these
Q-34 EFHagdFArRafawm e

hi
01. =Y T gawr 02. T AT FET
03. =TS AT AT 04. TS AT T
05. =8 & #rE T

Solution for Question 34

eng I

Ans Key: 2

Ans Key: 2



Q-35  Who among the following sits at the extreme end of the line?

eng
01. p 02. F
03. C 04. A
05. R

Q-35  FHfIEd § | F14 Ui<h F SATdH ST T2 I2a7 82

01. p 02. F
03. C 04. A
05. R
Solution for Question 35 Ans Key: 4

5 R ! P U Q

Passage for Question 36, 37, 38 (ST-205S0RRBCLERKMAINS(36-38R)2020)
eng Passage

Study the following information carefully and answer the question given below.

Eight person P, Q, R, S, T, U, V and W are standing in such a way the T is 30m away from V in north direction, V is 40m east away from the person P. P is 15 m
north with respect to R. W is 20m in south direction from the person Q. V is 30 m away from the person S in west direction. U is 25m towards the south direction
with respect to S. W is 30m west with respect of R.

hi Passage

et STasTd F 1 sq\gaF AeqIT F AT R TTIT F137¢RN

Az AP, QR S, T,U, VAT WA e H@e & I TS M A VH 30 HIex g, V,PH T ATH H 40 MeX @ H X &, TP H 15 e IATH B
R, W T TV T =ik & aferor feerm # 20 #ex 81 Vi ufsmm feen & =afce S &30 #Fiex g2 21 U, S 3 g & =feror faem i v 25 fex g siT RF aw =




ATy 93w 30 #ieT g

Q-36

eng

What is the direction of W with respect to S?

01. South
03. North-west

05. None of these
S % Herg § W T faerm #4782

01. =f3or
03. 3T afsry
05. =% A IS T2

Solution for Question 36

02.
04.

02.
04.

South-west
South-east

zferr @

Ans Key: 2

eng

Q-37

30m

20m
15m

30m

30m

20m
15m

30m

What is the shortest distance between U and R?

01. 100m
03. 75m

05. None of these
U 37 R % &= 999 Srer 331 #7182

01. 100 Hizx
03. 75X
05. =8 ¥ FIE 721

Solution for Question 37

02.
04.

02.
04.

25m

25m

50m
80m

50 *fex
80 #iex

Ans Key: 5

eng

30m

30m 30m

20m
15m

20m

25m




30m
Q
30m 30m s
P
20m v
15m 25m
w R
30m
u

Q-38  How far and in which direction is person U with respect to V(approximately)?
eng

01. South-east, 39m 02. North, 30m
03. West, 20m 04. North-east, 35m

05. None of these
Q-38 V() F "y 7 =i U At g oie e fram & 82

01. =fErrqd, 39 #F 02. 3=, 30 #Y
03. wfew, 20 #Y 04. 3ITT-T4, 35 HF

05. = q F1E 721
Solution for Question 38

T
30m
Q
P
20m ¥
15m 25m
W R
30m
U
T
30m
Q
P
20m ¥
15m 25m
w R
30m
u

Ans Key: 1

Passage for Question 39, 40 (ST-2050RRBCLERKMAINS(39-40R)2020)
eng Passage

Study the following information carefully and answer the question given below.

questions.

hi Passage

In each of the questions below consists of a question and statements. You have to decide whether the data given in the statements is sufficient to answer the

Fafafaa ITasrd &1 samgd® segaT L A= fRoagwrsrIacd

A RCTTTIAFTIA CHF T AIFATE | MTHTIE TT FIAT T o6 FA91 A fXATTATSTT AT FTITT A F Forg wafa § aragh

Q-39 Who among A, B, C, D, E and F is the smallest?
eng



I) D is shorter than A, but taller than C and B.
II) Only one person smaller than C and only three persons are taller than B. A is taller than D but smaller than F and E.

01. Ifthe data in Statement I are sufficient. 02. Ifthe data in Statement II are sufficient.
03. Ifthe data in Statement I and II are 04. If the data in all Statements together are not necessary to answer the question.
sufficient.

05. Ifthe data in all Statement together are
necessary to answer the question.

Q-39 A,B,C,D,ESIFRAFAqaA GreT7?

I) D A ¥ GreT &, AT C 3T BH 4T gl
I0) F9 U AF C | FleT g 3T B T AT | Fae o9 Ah a0 81 A, D | &7 g Afshe F 3T E 7 Zrer 8

01. % o I H 327 TA(H 2| 02. % o 11 ¥ 32T 947H 2l
03. 7f F=1 [ 377 11 F AHe TIIH & 04. FrfE 9t o H ST UF AT 1 T T T I AT SAALTF Azl gl

05. gfe gt FIT H T IT FTIAT T F
T s &)

Solution for Question 39 Ans Key: 2

eng

F/E
FIE

wiie]ls]p=d

F/E
FIE

O0|ox

Q-40  How is O related to J?

I) M is the son of R, who is the husband of Q. A is the mother-in-law of N.
I1) J is married to K. H is brother of L who is only daughter of O.

01. If the data in Statement I are sufficient. 02. [f the data in Statement II are sufficient.
03. Ifthe data in Statement I and II are 04. If the data in all Statements together are not necessary to answer the question.
sufficient.

U5. if the data in all Statement together are
necessary to answer the question.

Q-40 O, JFfFATRIHIETR?

hi
I) M, R &T 9= &, ST Q &7 ufd &1 N T 91 8|
I0) J &7 fararg K. H ¥ 2raT 8 ST L T ATE 2 ST e O T 93T 2
01. ofe g [ H 327 747H 2 02. afe g 11 § a7 74 TH 2l
03. {3 Fae [ =¥ 11 F e 97T 2 04. =z T9ft = | ST UF AT BT AT T T IAL A7 SAALTF Al gl
05. gl afi FT F ST TTFTSTLIAF
forT srareTa 2
Solution for Question 40 Ans Key: 4
eng I) IA- I“
*—a" J==
(0]
+ |
M H—L



1) »i\‘ )
——-c J==K
0
+ -
Hd H—L

Passage for Question 41, 42, 43, 44, 45 (ST-275CRPBCLPRE(6-10M)2020)

eng Passage

The following table shows the details of the various parameters (Cost Price/Marked Price/Selling Price/Mark Up/Discount/Profit) of the three
different articles Toothpaste, Wiper and Bathing Soap by a shopkeeper.(All the price depicted are the per article).

Article Cost Mark Up Marked Discount Selling Profit %
Price {(In % Price (In % Price (In
Rs)) Rs.) Rs.)
Toothpaste - 10 - - - 1.2
Wiper 150 - - 10 35
Bathing Soap -~ 20 - 12 84.48 -
hi Passage

frrarferfra areoft & e frf3rer aeqell qadee, Freq A Tagm FTAET F e w2t @7 a6t geafasmg geaasrar aar ga/ge)/
TH) FT 2L AT TATR.EAT T3 R 77 7w a2 7).

aF: & qc"!”—e HeRHT n\j:‘ir:}ﬂ_ 117”: g 04 R _—_F:, ? %
(Rs. f_| e (Rs. ii_'; (Rs. ;—'[}
AR -- 10 - - 13
AR 150 E - 10 1 3.5
TEEHEEET | 20 i 12 84.48 =

Q-41 At what percentage should he mark the Wiper up to get the required percentage profit?
01. 10% 02. 20%
03. 15% 04. 5%
05. 15.25%
Q-41  erefTm o wicerd ITH F3 % forw ag arsuw 1 o= sfaerd aer wa?
hi
01. 10% 02. 20%
03. 15% 04. 5%
05. 15.25%
Solution for Question 41 Ans Key: 3
eng 10x 33
Required answer="""" 190
=x=15%
hi 10x
x—10—-— =35
IfiE I = 100
=x=15%
Q-42 The discount given by the shopkeeper on the purchase of the Toothpaste to the customer is Rs.4.40; find at what price did the shopkeeper bought the
eng Toothpaste.

01. Rs.50 02. Rs.50.60



03. Rs.45 04. Rs.48

05. Rs.52
Q-42  TATE GG T THMETE G107 TTEH H1 &1 ST arelt G2 4.40 %. BT 1 TaT30 THIFETT F ZIUEE HT fha- | @IIar ar?
hi
01. Rs.50 02. Rs.50.60
03. Rs.45 04. Rs.48
05. Rs.52
Solution for Question 42 Ans Key: 1
R 10— x—E =12
100
=x=8%
MP= T % 100% =55
8%
CP=55 . 50
110
hi .
10— x—& =12
100
=x=8%
440
VP = N0% =55
80
Q-43 Suppose the shopkeeper changed his mind to allow a discount of 10% on the bathing soap instead of 12%; then at what percentage above the cost price
should he mark it up to decide the marked price in order to maintain his profit percentage the same?
01. 17.33% 02. 16.67%
03. 15.33% 04. 16.33%
05. 15%
Q-43 ¥ A THEI T T Q1T 9T 12% FF ST 10% T e 7 FT 79 a7 o037 1 a1 aq120 I8 77 YoF T Fohaar qiqerd aere sitha g
Tt AT =TT aTrh et AT T 9T 212
01. 17.33% 02. 16.67%
03. 15.33% 04. 16.33%
05. 15%
Solution for Question 43 Ans Key: 1
o e D gz weaeld)
20-12— =x—10-
100 100
Oy
=156=—
10
—x=1733%
hi 2 9
I R i R T
100 100
=156= 7%
10
= x=1733%
Q-44 A customer bought 5 wipers from the shopkeeper; find the total profit earned by the shopkeeper by selling the wipers.
eng
01. Rs.25.26 02. Rs.24.26
03. Rs.25.2 04. Rs.26.25
05. Rs.24.25
Q-44 TFAEF T TFMEIN Y 5 AT TS AT H[ 9= T THTETE FIT AT el ATH TTATT AT hrtora?
hi

01. Rs.25.26 02. Rs.24.26
03. Rs.25.2 04. Rs.26.25
05. Rs.24.25



Solution for Question 44 Ans Key: 4

g
eng Required answer = 150 0 ®x5=26125

100

i 3
[ MfiE I = 1<0><3_><5= 26.25
100

Q-45 Find the respective ratio of the cost price and the marked price of one Bathing soap.

eng
01. 65 02. 59
03. 4:5 04. 5:6
05. 3:5
Q-45  TE % UF A & HF A TAT SHThd Tod FT HHL: AT AT HiTord.
hi
01. 65 02. 59
03. 45 04. 56
05. 3:5
Solution for Question 45 Ans Key: 4

Required answer= 100:120 = 5:6

TS 3= 100:120 = 5:6

Passage for Question 46, 47, 48, 49 (ST-29RRBPOPRE(27-29M)2020)
eng Passage

Study the following information carefully and answer the following questions
There are four bags those contains red blue and white coloured balls .

* There are 50 red balls in bag 2 and total number of blue and white balls in Bag 2 is 50. Number of white balls in bag 2 are 10 more than the number of blue balls
in bag 2.

* Total number of red balls in bag 1 is equal to the total number of blue balls in bag 2 and total number of blue balls in bagl is equal to total number of white balls in
bag 2. total number of balls in bag 1 is 90

» Total number of blue balls in bag 3 is equal to total number of white balls in bag 1 and total number of white balls in Bag3 is equal to total number of blue balls in
bag 1. Total number of balls in bag 3 is 80.

hi Passage
afafaa STasTdh &1 eamgd® sregaT 3 A Maforfaa vt F 39
T T & IS8 AT el 3T F%a 3T 6 74 &

o ST 2 50 AT A< & ST 3T 2 H ATef 3T THa Tl T o TLAT 50 &1 57T 2 F TH T T FEGAT 57T 2 ¥ Aeft A& T G471 & 10 AT 2

« 3T 1 3 oAver Y A T W A 2ﬁﬁﬁﬁﬁaﬁmw%w%sﬁ1§v | % e WEF Fir ot e S 2 # qhE et Y F FEAr F awa 31 A
lﬁﬁﬁaﬁaﬁmwo%

o ST 3 F et &1 T {A FLAT T | H 6 Tl 1 Hel SCAT F J0a< g ST ofT 3 H T &l 0l e AT 9 1 § ey Tai AT F{oT 9qT1 & a20a? gl o
3 # Tt T e "5 80 7

T 4 F T AT 7 AT 7S HAT § G & 37T ST 4 § A3 7 /T ST 97 | H ATA 3T T AGT T G&AT HT AR B

Q-46 If 10 balls from bagl are replaced by 10 red balls and 10 balls from bag?2 are replaced by 10 blue balls, then what is the difference between maximum

eng probability of getting a red balls from bagl and that of getting a blue ball from bag2?
01. 1/30 02. 1/15
03. 1/20 04. 2/57
05. 3/34

Q-46 ST 1 & 10 IGT &1 10 AT a1 | F&e (<77 STAT & ST ST 2 § 10 IAaT H1 10 FVAT AT & F& [3F7 ST &, AT 6 1 F 7 Gl H1 T Fe 1
hi STErsha e TTEAT 3T 57T 2 | Uk Aol 95 TITH e § 97 (e 82

01. 1730 02. 1/15
03. 1/20 04. 2/57



05. 3/34
Solution for Question 46

Q-47 If 40 blue balls are added to bag 4 and 2 balls picked at random, then what is the probability of getting at least one out of 2 balls is blue?

Ans Key: 1

Q-47 AT T4 H 40 VAT T SITET ST 8 37T 2 T2 HT ATgI=e w7 F HEHET AT 2, T 2 W&l § 8§ FH 8 FHH TH HT A7 g4 6l THraT 797 52

eng Bags RED BLUE WHITE TOTAL
BAG1 20 30 40 20
BAG2 50 20 30 100
BAG3 40 10 30 80
BAG4 20 20 20 60
After replacement of balls
P(max 1 red from bag 1) - P(max 1 blue from bag 2)
~ 30 C_ 336-_
50 C_ 100 C:
1 3
3 10
30
hi & i Frar e Fa
371 20 30 40 o0
= 2 50 20 30 100
=1 3 40 10 0 80
=T 4 20 20 20 60
el o JfETa % o1g
P (A7 1 & Aferehad | ATSA) - P (ST 2 | Afershan 1 e
- 30 -_’-_ £k (._
1 3
1
01. 139 02. 173
03. 137 04. 139
05. 203
165
hi
01. 139 02. 173
185 165
03. 137 04. 139
1635 63
05. 203
165

Solution for Question 47

eng Probability =

40
C-

Ans Key: 4



Q-49

Solution for Question 49

hi TfrehaT =
=1 “ £
T c,
B 40 39
T 100x99
139
165
Q-48 If 10 white balls are added to bag 3 and 3 balls are picked each from bagl and bag3, then what is the ratio of probability of getting all 3 blue balls from
eng bagl to the probability of getting all 3 white balls from bag 3?
01. 203 02. 203
494 494
03. 201 04. 200
494 495
05. 207
494
Q-48  F[T RT3 H 10 7 < SITET ST @ SN R 1 ST O 3 H F e | 39 Fofredt St &, A0S/ 1 & FAF AT At G2l 0F o713 F 97 3 e

T T ATH FLA 0T ATCAHAT T AT FAT 22

01 205 02. 203
184 494
03. 201 04. 200
494 493
05. 207
o

Ans Key: 2

Sourav spent 40% of his monthly income on study, and 60% of remaining on rent. Out of remaining money, 75% is spent on travelling and 20% of the rest
on gambling. If he saves Rs600, then find his monthly income?

01. 12000 02. 12500
03. 13000 04. 13500
05. 13250

I  STIAT AT ST AT 40% T T, 3T 60% A9 FFr0 a2 &= ) 09 oF & |, 75% FTA7 9% @+ 63T ST1a1 8 3 99 20% 0 92
Tg AT ST 21 TfR a8 ® 600 T a=a AT 2, AV ST AT 0T AT L2

12500
13500

01. 12000 02.
03. 13000 04.

05. 13250
Ans Key: 2

eng

Total = 100%
Study
40%

remaining
60%
60% 40%

Rent (36%) remaining (24%)

Travelling (18%)

remaining (6%)

rem (80%) =6 x 80% =600

1 &Mmfs

Gambling (20%)

1 AR, —



AT EE|
40% 60%
60% 40%
Tortr (36%)
IFT (18%)

Y (24%)

FHAT (20%)

31 (6%)

19 (80%) = 6 X 80% = 600
100% = 12500

eng Passage

hi Passage

A= AT ATTHTL 2016 - 2020 F A fy F FAg gwF AR A faFacd et s1Raa )

Passage for Question 50, 51 (ST-29RRBPOPRE(34-35M)2020)

The information given below is the investment of three Venture capitalists in a partnership for the period of 2016 — 2020.

The investments made by an individual are for the same period. The investment of Vikram in 2016 is Rs. 40000 and is equal is to the investment of Chandan in
2018. The total investment in 2019 is Rs. 24000 and the ratio of investments of Arjun, Vikram and Chandan is 8 : 9 : 7 respectively. The investments of Arjun in
2016, 2017 and 2018 are Rs. 32000, Rs. 48000 and Rs. 44000 respectively. The investment of Chandan in 2016 and 2017 are same i.e. Rs. 22000. The
investment of Vikram in 2018 is Rs. 6000 more than the investment by him in 2017 i.e. Rs. 30000.

et =rfen gy o T fRerer ST srafer 3 forw 2rar 21 2016 7 & &7 [Haer % 40000 2 3T 2018 | =& & (Haer & avm@w 812019 § 1 [{aa &
24000 T 3ro(, Tam ¥ @ % fRerer &7 Sard F99T: 8:9: 781 2016, 2017 3T 2018 H 15[ * Haer FHL: & 32000, F 48000 3T & 440001 2016

¥ 2017 § =2 &7 (99 THE g TTT % 22000, 2018 F f&emm 71 Faer 2017 § S99 g o 70 39 & 6000 2 F4= T = 30000.

Q-50 Find the share of profit earned by Vikram in the year 2018, if the total profit in 2018 is Rs. 15000?

01. 4520
03. 4500
05. 4580

Q-50 2018 H fashH g7 ATSIq ATH HT 6T S &7, AT< 2018 H F{H ATH 15000 % 2

02. 4530
04. 4567

01. 4520 02. 4530
03. 4500 04. 4567
0S. 4580
Solution for Question 50 Ans Key: 3
eng ARJUN  VIKRAM  CHANDAN
44000 ;36000 : 40000
11 : 9 10
ixldeIEIIJ
VIKRAM?’ share = 3
= 4500
hi IS CEZ] Bt
44000  : 36000 : 40000
11 : 9 10

§ oo
forgre o e = 35 000
= 4500

Q-51 If the share of profit of Chandan in 2016 and 2017 is Rs 7700 and Rs 8800 respectively, find the ratio of profit of Arjun in 2016 to that in 2017 ?

eng

01. 7:12
03. 19:7

02. 12:7
04. 7:19



05. 12:5

Q-51 =T 2016 3T 2017 H =T & AT &1 ZFT FHLA: 7700 FTF 3T 8800 I &, AT 2016 H 3(S[ o ATH FHT AT 2017 H AT Hfora?

hi
01. 7:12 02. 12:7
03. 19:7 04. 7:19
05. 12:5
Solution for Question 51 Ans Key: 1
eng Investment profit
Arjun chandan Arjun chandan
2016 32000 22000 X 7700
2017 48000 22000 y 8800
32000 x
22000 7700
x=11200
48000
22000 8800
1 =19200
Ratio = 11200: 19200
=7:12
IEER) g
T Je el e
2016 32000 22000 X 7700
2017 48000 22000 y 8800
i T00
¥ = '_Qll'jl':l- .
AT = 11200: 19200
=7:12
Q-52 Find the wrong number in the following number series-
19 35 134 792 1582
01. 35 02. 134
03. 19 04. 1532
05. 792
Q-52 4% e @ H Ted Ug 14 hifer-
19 35 134 792 1532
01. 35 02. 134
03. 19 04. 1532
05. 792
Solution for Question 52 Ans Key: 4
eng 19 35 134 792 6312
x2-3 x4-6  x6-12  x8-24
hi 19 35 134 792 6312
x2-3 x4-6  x6-12  x8-24

Q-53 Find the wrong number in the following number series-

eng
726 766

01. 726
03. 675
05. 766

675

832

594

02. 832
04. 594



Q-53 7w g dwe § 9q 97 A9 fifer-

726 766 675 832 594
01. 726 02. 832
03. 675 04. 594
05. 766
Solution for Question 53 Ans Key: 3
eng 726 766 678 832 594
+5%8 -8x11 +11x14 -14x17
hi 726 766 678 832 594
+5%8 -8x11 +11x14 -14x17
Q-54  Find the wrong number in the following number series-
eng
13 71 212 1682 10154
01. 71 02. 13
03. 1682 04. 212
05. 10154
Q-54 &% 94T S@aT | T9q 9% A1 Ao
13 71 212 1682 10154
01. 71 02. 13
03. 1682 04. 212
05. 10154
Solution for Question 54 Ans Key: 4
13 71 326 1682 10154
x3+32 x4+42 x5+52 x6+62
13 71 326 1682 10154
w 3132 w4+42 w 5+52 w 6162

Q-55 Two equilateral triangles and two parallelogram are cut down from a hexagon. If area of one equilateral triangle is 43 cm2 then find the height of

eng parallelogram?

01. 4v3cm 02. \3cm

03. 243 cm 04. 3v3cm

05. 8V3cm
Q-55 =T HHATE AT ST ET AHIAE AT TF TS § FE AT 2| TS TF THATG T FT STHA 4V3 em2 € qT TAIAL ATHST T HATE 1T
hi #rorm?

01. 43 3t 02. 3 &Y

03. 23 &t 04. 33 3y

05. 83 &+t
Solution for Question 55 Ans Key: 3
eng Area of hexagon = area of 6 equilateral triangles = area of 3 parallelogram = area of 2 equilateral triangle + area of 2 parallelogram.

Here area of equilateral triangle = 4\'@ cm’

3 "
So, % (stde)iiﬂfg
So side will be 4

So, area of parallelogram = side X ht.

8V3=4X ht

Soh=2\/§ cm.

hi ST &1 ATFA = 6 THATG ST T &TARA = 3 THITL TS T SARA = 2 THATE T HT &THA +2 THTAL AT T TFA



Q-56

eng

Q-56

ST g P T & = 4v/ 3 S

a5, 2 ()2 = 4V3

T T 4RI

A THIG HLH B S = 9 X FEE
8V/3 = ax Smmé

i h=2v/3 &

Work done by A, B, C and D is in arithmetic progression. C,Worked for 9 days and completed 30% work. A and B worked for 2 days and 3 days only.

Find for how many days 'D' work to complete the remaining work if all four together can complete that work in 4 days.

01. 12 days
03. 6 days
05. 4 days

02. 10 days
04. None of these

A, B, C 3% D g1 33T T3 &1 |oTeae 2ioft § B1C, 9 faei % forw e 3 3T 30% %18 9327 f3ham A oire B 72 T3 e 3 fa=r &1 1 fmam)

'D * A FHTF HT T FA % forw fraey TGt Fr Fwar § 7t aft v any {39 #1 #r 4 3 § 7 9 2

01. 12fe=
03. ¢fee
05. 4fe=

Solution for Question 56

Q-57

eng

Let A, B C and D completed (a-2d)% , (a-d)%
So 4a —2d =100%

But a =30% so d =10%

So A will complete whole work in 20 days

B will complete the whole work in 15 days

C will complete the whole wok in 30 days

02. 10few
04. =% T =TS AL

, a% and (a + d)% work

Let D will alone complete the work in d days then

4/20 +4/15 +4/30 + 4/d = 1
We getd =10
So D will complete100% work in 10 days

So 40% of work will be done in 4 days

TET A, B C A D (a-2d)% , (a-d)% , a% T (a + d)% 18 T fkam

A 4a - 2d = 100%

WA a = 30% 37d: d = 10%

A A 20 T 5 U qu e

B 15 o1 o g s qu em

C 30 o1 o g s g e

HHT D 37t d femT 8 s sham
4/20 +4/15 + 4/30 + 4/d = 1
FAHHITd = 10

3@ D 100% 1 10 T 5 o sHem
FA:40% 4 T 7 foram SRR

Ans Key: 5

Shantanu bought some eggs at Rs.10 each. Out of these, some are rotten and some are fresh. He sold fresh eggs at 50% profit and rotten eggs at 20%

loss. In total he earns 8% profit. Find the probability of selecting one fresh egg from total eggs.



01. 1/9 02. 112

03. 4/5 04. 3/5
0s. 2/5
Q-57 AAGT RS T 10 T0F H @S| T8 8 T 92 U8 ST [ qTalT &1 SA 50% ATH H a1l 3 3T 20% I T2 9L g S o A § a8 8%
hi AT FHTAT g1 F/A ST H F T ATSAT 1S o AT T GHATEAT AT I |
01. 1/9 02. 12
03. 4/5 04. 3/5
05. 2/5
Solution for Question 57 Ans Key: 5
eng +50% -20%
+8%
28 42
Hence ratio = 2:3
Hence required probability = 2/5
hi +50% -20%
+8%
28 42
zHfom FUTT 2:3
zoferT epsfte wrfFaT=2/5
Q-58 profit earn after selling an article in Rs. 850 is 12.5% less than the loss incurred after that article in Rs. 400. If shopkeeper wants to earn 6.66% profit in this
business then at what price he must sell the article?
01. 640 02. 681.6
03. 680 04. 780
05. 785
Q-58 850 FUF § UF @ = % ATE ATH 37 1@ &l 400 FTT H 9= TL g THAT il AT H 12.5% FH gl T3 HEIN =0 A9 7 6.66% ATH
01. 640 02. 681.6
03. 680 04. 780
05. 785
Solution for Question 58 Ans Key: 2
eng Margin between both selling price = 850 — 400 = 450
Profit = (7/15)x450 =210
CP=2850-210= 640
SP =640 x(16/15) = 681.6
AT ol T o A AT = 850 — 400 = 450
T = (7/15)x450 = 210
CP=850-210=640
SP = 640 x(16/15) = 681.6
Q-59 Train A travelling at 90 kmph overtake train B traveliing in same direction in 10 seconds. Had train B travelled twice of its speed, than train A would have
eng taken 25 seconds to overtake it. Find the length of train B (in meter) given that its length is 60% of the length of train A.
01. 150 meter 02. 70 meter
03. 140 meter 04. 75 meter
05. 210 meter
Q-59 90 faeY./erve it =Ter F ST TET o A THT 39T H 7 T 3T B AT 10 FHvS H O FAT g1 AT ST B A AT IAAT FT AT AT AT 3T A, T B AT
hi 25 FFUE | U FTAT g1 27 B T qwars aared (Hiex #) 7f st v 27 A Y stwars v 60 aiderd 2-
01. 150 ez 02. 70 #fiex
03. 140 Htex 04. 75tz
05. 210%Tex
Solution for Question 59 Ans Key: 5
eng let length be 5x and 3x respectively



(5x + 3x)/(90-v) = 10
(5x + 3x)/(90- 2v) = 25
x=70; v=34

3x =210

ATAT AETS FHHL: SX TAT 3x &
(5x + 3x)/(90-v) = 10

(5x + 3x)/(90- 2v) = 25
x=70; v=34

3x =210

Q-60

Q-60

Passage for Question 60, 61, 62, 63, 64 (ST-48 SBI(106-110))
eng Passage

In each of the following questions is followed by three statements study the question and the statements and decide the information given in which of the statement(s)
is/are necessary to answer the question ?

hi Passage

= ST T § UF T 36 ATE A HAAT H AR &T TS | AT T 37T FAAT 7 STLAIT I 1917 3T g T i rord T Tl A1/ FAAT H &7 T
STTERTEY T T 3T & o (o7 SAF9TF 2/2 2

What is the speed of the train?

I.  Length of the train is 300 meters.
II. The train crosses a platform of equal length in 54 sec.
III. The train crosses a signal pole in 18 sec.

01. OnlyIandII 02. Only IT and III

03. Only I and (either II or III) 04.  Any two of the three
05. None of these

TENTET T AT FATE 2

L TS Y FETE 300 #HY. B
Il TENTTET 9T TS o aXTeaL Wahid 1 54 g H 1T Fd7 2

1. ToETTET UF G 7 18 &, § IT¥ LT 2

01. Far [Tl 02. et 11377 10
03. et I < 3T (11 37 110) 04, =TT T FIS AT
05. =7 T FIE AT

Solution for Question 60

Only I and (either II or IIT)

Ans Key: 3

hi et [ 3 3T (11 3T 100)

Q-61  What s the staff strength of company A?

eng
I. Male and female employees are in ratio of 2 : 3 respectively.
II. The number of 80% male employees is 132.
III. Total number of officers is 264.
01. OnlyIandII 02. OnlyIand III
03. Only I1I 04.  All are not sufficient
05. None of these

Q-61 T A F FHATAL 6T deAT Fhast g 2

hi

I &Y 3T AiZar FHATRET T AT FHA: 22 3 T
Il 80% T&W FHATAL T H&AT 132 2
M. T STERTAT T AT 264 2

01. Far13fiTll 02. Faer [ AT I

03. Faet III 04. FfT For TATH T



05. =3 ¥ %€ T

Solution for Question 61 Ans Key: 1
eng With the use of I and II we can find out the total number of employees.
hi A [ 3T 11 T TETAAT F A FHATRIT 61 ST AT FT T 2|

Q-62  Find principle amount?

eng
I.  The compound interest on the same sum for two years is 484.

II. Rate of interest is 5%.
III. The difference between compound interest and simple interest on that sum is Rs. 41.

01. Onlyl 02. Only I
03. 1I with either I or III 04.  All are not sufficient

05. None of these
Q-62 T AT FL?

hi .
I =wete saTT TR Tier 9 a1 a6t 7 484 =97 2|
Il =37 T 3T 5% 2
I =T ATy 9% Fhg i sATST ST ATLTOT SATS 7 3a¥ 41 F97 B
01. FF I 02. FFer Il
03. 11, 19T III 3 & 04. 9t Fo TATT AT &
05. =% FFTE TL1
Solution for Question 62 Ans Key: 3

IT with either I or I1I
1L, 1 3T I11 3 911

Q-63 What is Neelu’s present age ?

I. Neelu’s present age is 2/7 of her mother’s age.
II. Neelu’s mother's age will be thrice Neha’s age after 5 years.
III. Neha’s seventeenth birthday was celebrated three years before.

01. OnlyIandII 02. Only Il and 111
03. OnlyIandIII 04.  All statements are not sufficient

05. All LI and III
Q-63 I AT AAATT MY FAT & ?

I. I 0 AT S ST AT T 3T 61 2/7 B
Il 7= a9 a7 A 7 |7 T A7 7T T A0 67 A AT 2R
L. & 99 gl AT FT AALTT STeH e AATAT 4T 2l

01. Faer [f¥ 1 02. e I1 377 11

03. Faer 1Tl 04 woff shor e wATH AL

05. &sfit [, 11 3t 11
Solution for Question 63 Ans Key: 5
eng I, IT and III are sufficient to answer
hi I, I1 37¥ I & 3¢ ST 87 9T §

Q-64  What are the dimensions of the rectangle ?

eng
I.  The diagonal of the rectangle is Scm.

IL  Area of the rectangle is 12cm?
III. The perimeter of the rectangle is 14 cm.

01. Anytwo 02. OnlyIandII
03. Only I and IIT 04.  All three together are not sufficient

05. AllLI and IIT
Q-64 s A A FTE 2



I 3maa & faeet 5 3y 3

IL ST 7 &Ther 12 FH2 )
III. 3T T IRATT 14 59 21

01. =rs «fi2 02. FaeT [Tl

03. e I1 37 I 04. Fsfy =T U A o TATH TRl B

05. J7 L, 1 =¥ I
Solution for Question 64 Ans Key: 1
eng Any 2 can get us the dimensions of rectangle
hi T AT 2 § FOATd 7T T ITHFAT §

Q-65 Eng A boat can cover X km while going down upstream in same time in which it can cover (X-8) km while going up stream. If the difference between the

eng distance covered in 1 hr. Downstream and upstream is 6 km and speed of boat in still water is 15 km/hr, then find the value of X.
01. 18Km 02. 24Km
03. 30Km 04. 15Km

0S. Can not be determined
Q-65  UF A X FrY. ft T T FT AFAT § T A AT F ATATE AT ¢ 2R A w 7wy § (X-8) Tt Y g T w AwA E Iw AT AT
TLAYATE STl gl AT 1 5 § SITATE 3T FeAwaTeg aF it T g | 6 ey, F7 s § sfe o ster 7 ara v =mer 15 fefy /s 8, ar X a1

01. 18 farT. 02. 24 frT.
03. 30 e, 04. 15 fore.
05. fHeifia 7t T ST awar g
Solution for Question 65 Ans Key: 2
D-u_6_gxmmr
t 1
SED —u _ i
2 2

D=15+3 =18 km/hr
u=15-3=12 km/hr

X x—8
18 12
X =24 km

e o
D =15+3 =18 fopait. /9.
u=15-3=12 fral). /4.
X x—-8
1_
X

12
=24 fepaiY.

Q-66 The sum of salary of three persons A,B and C is Rs. 72000. They spend 80, 85 and 75 percent of their salary respectively. If ratio of their savingsis 8 : 9 :
eng 20, what is A’s salary?

01. 15000 02. 16000
03. 12000 04. 17500

05. Can not be determined
Q-66 T =T AB 3T C fS® a0 FT ART 72000 FIF &, FHT: T a0 F7T 80, 85 37T 75 Iqd @9 T & 2| TT T a1 T AI1d 8: 92 20
hi 2 Al A FT Ja7 e 82

01. 15000 02. 16000

03. 12000 04. 17500

05. feaifea Tei T ST Jhat &
Solution for Question 66 Ans Key: 2
eng 20 of x : 15 of y : 25 of z=8:9:20

X:y:z=23:4



share ofx=§x72£mz16()(][}

hi 20 of x: 15 of y : 25 of z = 8:9:20
X:y:z=2:3:4

x%‘r%?m%x?muoﬂﬁom

Q-67  The simple interest accrued on an amount of Rs. 8500 at the end of four years is Rs.3400. What would be the compound interest accrued on the same
eng amount at the same rate of interest after three years?

01. 2348.50 Rs 02. 3214 Rs
03. 2813.50 Rs 04. 2640.25 Rs

05. 2720.75 Rs
Q-67 8500 =9 ¥ T X AT AW F 3 § ST ATETRIT AT 3400 T F | T a9 TATT 6T 54T 27 T TH (L T2 AT Fohg 1o 5471 7T
hi ZT?

01. 2348.50 . 02. 3214 %,
03. 281350 =, 04. 264025 =,
05. 2720.75 =.
Solution for Question 67 Ans Key: 3

eng IS 7 = 2RI =100 =10%

A= 8200

CI=8500 (1+—) 1 =2813 3
100

& IS 7 = 2RI =100 =10%

A= 8200

CI=g200 |::—i‘|' —1[=28135%
L 100 )

Passage for Question 68, 69, 70, 71 (S?— 102 bank po (pre)—Q-(Z_-S))
eng Passage
Study the following pie chart and answer the questions asked.

| Break-up of items manufactured by machine M (in degree)

77

Break-up of all defective items produced (in degree)

N ‘




-y

sAmB el =D =E

hi Passage
Frfafad org =T o st AR ST I T Tt & S R

AR M gT i et a ferawor (feuft )

61.2

i AT IeaTfed st s ferawor (feaft )

[T}
a2

Tk

(=]

{¥=]

Q-68 What were the total number of items manufactured by machine M, if 612 units of item C were manufactured?
eng

01. 2800 02. 3000
03. 3600 04. 4200
05. 4500

Q-68  =fFawg C & 612 zwrzat Afda ¥ wff av, wefir M gr T aeqeit £ g dwea 2

01. 2800 02. 3000
03. 3600 04. 4200
05. 4500

Solution for Question 68

Ans Key: 3

£0g Item Break-up of items | Break-up of all
manufactured by defective items
machine M produced
A 22 20

B 24 22



Total=E:3ﬁnn units

0.17

= B 1= M grr HiEd e Gl FedTiea
EisclEaREGi RS lEZREG

A 22 20

B 24 22

C 17 24

D 17 22

E 20 12

FeT = %;3@“ CEOERIT

Q-69 What is the total number of units manufactured by machine M if units of item B manufactured are 154 more than the units of item D manufactured?

01. 2200 02. 2900
03. 3600 04. 3700

05. Cannot be determined
Q-69  =fxawg B At Afa szl it d=ar wa D it AT sawreai it d=ar § 154 stferaw 2 av, 7efia M gy HiAT awgatt it £ 9ea1 22

01. 2200 02. 2900
03. 3600 04. 3700
05. fHetia 72t B ST g
Solution for Question 69 Ans Key: 1

Item B — Item D = 7%
Since, 7% of total is 154

Total = % =27 units

hi AIB-"TD="7%
I, A FT 7% 154 B
_ 154 3
Fa= 13 _gonpzwriat
] 007 2200

Q-70 If the difference in units manufactured of items E and D is 1.5 times the difference in units manufactured of items A and E, find the total number of units
eng manufactured.

01. 1500 02. 1000
03. 2500 04. 2950

05. Data inadequate
Q-70  =fTawg E 3T D &t RiHT sHhreai &7 3fqw, a5 A 3T E & AHT sh1d1 & (a7 #7 1.5 A7 2, ar AHT sHhreai &t {1 971 J1q it |

01. 1500 02. 1000
03. 2500 04. 2950
05. g AT

Solution for Question 70 Ans Key: 5



eng Data inadequate
hi AFE ATATH &
Q-71 If the number of items manufactured of E is a multiple of 15, then number of items manufactured of B will definitely be a multiple of-
eng
01. 4 02. 5
03. 12 04. 18
05. 20
Q-71  =fz Ei AfAfE awqet it g=1 15 &1 o 2, a1 B &t A awqer it gear Rt =78 uF o gef-
hi
01. 4 02. 5
03. 12 04. 18
05. 20
Solution for Question 71 Ans Key: 4
eng Let the number of items of E be 15x
E is 20% and B is 24% of total.
_024 .
B=>=22 E= 2 =
Hence 18 times.
HTAT E 15 A&T T 94T 15x 2
E % FT 20% 3T B A FT 24%
_ 024 _0
B= E=2 =
030 3 ¥15x=18x
;18 AT
Q-72 If 5 men and 3 women can complete a work in 15 days whereas 15 men and 9 women can complete this work in 5 days. Find in how many days 10 men
and 6 women can complete this work?
01. 9 days 02. 7.5 days
03. 6 days 04. 12.5 days
05. None of these
Q-72  =fT 5 a7 3 Aigar FREt 13 & 15 o | G078 F2d 2 &7 15 729 3T 9 "igar et 1 &1 5 fad § Q1 F3d € | 1 Hifsrd 67 10 29
T 6 IEAT =0 F19 F ohae (&7 § T8I FT T ¢ 2
01. 9faw 02. 75f=
03. 6faa 04. 125
05. =7 & Fr 7
Solution for Question 72 Ans Key: 2
eng SM+3W =15 days
10M +6W =15/2 =7.5 days
hi —
SMH+3W =15 &
10M +6W =15/2 =7.5 fea
Q-73 In two vessels ratio of milk and water is 5:3 and 5:7 respectively. They are mixed together in 5:4 . Find the ratio of milk and water in the final mixture.
eng
01. 77:63 02. 101:91
03. 107:93 04. 115:101
05. None of these
Q-73 I ATAT H T TAT TIAT AT STATT HAL: 5 3TATS 0 7 €1 T 5 2 4 % AATA | (0t Srav g1 stfeaw frsor § o 41 I11 7 STurd 1 it
hi

01. 77:63 02. 10191
03. 107:93 04. 115:101
05. =a® FF1E TE



Solution for Question 73 Ans Key: 4

eng 5:3=8)x3x%x5
5:7=12)x2x4
75 45
40 56
115:101

hi 5:3=8)x3x5
5:7=12)x2x4
75 45
40 56
115:101

Q-74 Anita purchased one table and one chair costing Rs. 680 and Rs. 585 respectively. If she sells table at a loss of & %% and chair at a profit of 16 é% . Find
eng
the total amount she will get by selling these articles.

01. 1280 Rs 02. 1296 Rs
03. 1440 Rs 04. 1320 Rs
05. None of these
Q-74  orefier & v st ot s efT ey ooy et ser: 680 = AT 585w 1 AR 9T 9% T 6 296 ¥ 2T g T T 0 16 204 AT AT

TN AT A€ 3 T FT o= HT haT & TTH HLIAT AT Hi 1o |

01. 1280=. 02. 1296 %.
03. 1440, 04. 1320%.
05. =98 J FIE Al
Solution for Question 74 Ans Key: 4

required answer=_2 » 530 + — « 585 = 5375+ 6E2.5 = 1320

1
1R

=75 Three numbers are poicked randomly from a set of first 100 natural numbers. What is the probability that at least two numbers will be prime numbers?
p y p y p

01. 98/1617 02. 248/1617
03. 496/1617 04. 100/539

05. None of these
Q-75 I SEATY qgel 100 TG ST % THFGT | & Savd 19 &7 F Hhet T STl | FAT T91ET 2 15 F7 T FH a7 SCAT0 TATST SeAT0 gir?

01. 98/1617 02. 248/1617
03. 496/1617 04. 100/539
05. =8 qFIE Tol
Solution for Question 75 Ans Key: 2
eng P(E):3><25><24><?5+25><24><23: 248
1009998 1617
hi P(E)z3><25><24><?5+25><24><23= 248
1009998 1617

Q-76 Sum of three consecutive odd numbers and three consecutive even number is 231. If the smallest odd number is 11 less then the smallest even number than
eng find the sum of largest odd number and largest even number.

01. 81 02. 85
03. 79 04. 87

05. None of these
Q-76 & wHe fauw wesdt sirv A wieT a7 searsit F7 A0 231 81 71 T=9 St oo de g9 S 99 S 11 79 § a1 g99 927 BFow
hi TEAT 3T qae F1 99 T&dT T TRT AT Fiorg|



01. 81 02. 85
03. 79 04. 87

05. =98 qFIS A5t
Solution for Question 76 Ans Key: 1

eng Let the smallest odd number be x
Let the smallest even number be y
Given,y-x=11 .......... 1)
x+x+2+x+4)+(y+ty +2 +y +4) =231
3x+3y=219

On, (i) + (i)
y=42

x =31
y+t4+x+4=81

hi HTAT qa¥ Tt oo 5T x B
ATET a8 Pt 99 H&dT y gl
g, y-x=11 .. 6)
x+x+2+x+4)+(y+ty +2 +y +4) =231
3x +3y =219

x =31
yt+4+x+4=81

Q-77 Find the value of variables and state the correct relationship -

X24+6.7x+8.5=0

y2+y—():0
01. X > y 02. X > y
03. x<y 04. x<y

05. x =y or relationship can not be established
Q-77 = FT AT ST IS TAT Tl FHIwe TATIT I o0 -

X2+6.7x+8.5=0

V2y-6=0

01. x>y 02. x>y
03. x<y 04. x<y

05. x =y IT ¥l T Al AT ST FHeheT
©
Solution for Question 77 Ans Key: 5

eng x=-1.7,-5

y=2,-3
hi x=-1.7,-5

y=2,-3

Q-78 Find the value of variables and state the correct relationship —
eng

X*=6859
y>=357.21
01. x>y 02. XZy
03. x<y 04. xSy

05. x =y orrelationship can not be established

Q-78 =X T AT @ HIIS1H TAT Tt qFaeel ST o0 —

x3=6859



y?=357.21

01. x>y 02. xzy
03. x<y 04. xSy
05. x =y IT q¥awe TATT Tl AT ST THAT

z

Solution for Question 78

Ans Key: 1

eng

x=19

y=18.9,-18.9

x=19

y=18.9,-18.9

Q-79

eng

Q-79

hi

Find the value of variables and state the correct relationship —
x2-6x+8.36=0

y%-7.8y+15.2=0

01. X>y 02. XZy
03. X<y 04. Xfy

05. x =y orrelationship can not be established
FEN T HT ST 0T o AT TRl TFaeey TATO hifory —

x2-6x+8.36=0

v2-7.8y+15.2=0

01. X>y 02. ny
03. x<y 04. XS}/

05. x =y T FFee TTIOS TRl (AT ST HFAT
g

Solution for Question 79

eng

hi

X290 3.8
y=3.8,4

X<y

x=2.2,3.8
y=3.8,4

X<y

Ans Key: 4

Q-80

eng

Find the value of variables and state the correct relationship —
X2+8.2x+13.2=0

y+16y+63=0

01. X > y 02. X> y
03. x < y 04. x< y
05. x =1y or relationship can not be established

FLA T AT AT o1 TAT Tt TFaee TTO hford —
X2+8.2x+13.2=0

y*+16y+63=0

01. X>y 02. XZY



03. x<y 04. xSy
05. x =y T F¥ee TAT el (AT ST FHAT
z

Solution for Question 80 Ans Key: 1

eng

x=-6,-2.2

y=-7,-9

x=-6,-2.2

y=-7,-9

Q-81

eng

Recently, Attorney General of India has told the Centre that it must compensate states fully for the loss of Goods and Services Tax revenue during the
coronavirus-induced lockdown. Who is the Attorney General of India?

01. Tushar Mehta 02. Atanu Chakraborty
03. Rajiv Kumar 04.  Ajay Bhushan Pandey

05. KK Venugopal
BT &1 |, WA & TSI ST 7 g H gl g o6 SH AAaraed-IRd ATHSTSA F T AT 1T FAT FHT TSTET % THET o o7 531 w1 T
TIE T ATAYT AT AR T & HEATIATT A1 82

01. U Hgar 02. 7 FFads
03. TS{E FH 04. 37T ST 7S
05. =& FuErTe

Solution for Question 81 Ans Key: 5

Q-82

Q-82

The Attorney General for India is the central government’s chief legal advisor, and its primary lawyer in the Supreme Court of India.He is
a part of the Union Executive. He is appointed by the President of India under Article 76(1) of the Constitution. He must be a person
qualified to be appointed as a Judge of the Supreme Court. He should be an Indian Citizen.

T o oTC STEHT SR 3 T o &I T GTeshN 8, HIX TRA % Haliod AT H §6 AT Jehiet ol I8 Hald HIEHH! & Th
fewan 21 9 wia o wegafa g wfere™ & sg=ae 76 (1) % qad e foram ST 21 37 eied =Arerd % =T % 9 § frew e & g
I Tk BT T8N 32 AR ATk BT =Ry

NITI Aayog in partnership with the Institute of Competitiveness has released the Export Preparedness Index (EPI) 2020.EPI is the first report to examine
export preparedness and performance of Indian states. The three best performing states are?

01. Gujarat, Maharashtra and Tamil Nadu. 02. Gujarat, Madhya Pradesh and Maharashtra

03. Chhattisgarh, Tamilnadu and Assam 04. Uttar Pradesh, Gujarat and Nagaland

0S. Gujarat, Chennai and Sikkim

TfaETdT FEATH & AT ATHETET H NITI Aayog 7 FaTa aamT g=shi= (EPI) 2020 ST f7T 81 et Tt T fRata T3y sie geeie & =
T ATAT Tgell (LIS g1Ta98 TG Fe arel A1 1157 572

01. IS, HEWTY ST qfeaTg 02. (ST, HET TR AT ALY
03. BIEETE, FFEEATE ST a9 04. ITT T, T T AT

05. [T, 9=s e oy

Solution for Question 82 Ans Key: 1

eng

The index ranked states on four key parameters — policy; business ecosystem; export ecosystem; export performance.Top 3 states:
Gujarat, Maharashtra and Tamil Nadu. Among the landlocked states, Rajasthan has performed the best, followed by Telangana and
Haryana. Among the Himalayan states, Uttarakhand topped the chart, followed by Tripura and Himachal Pradesh. Across Union
Territories/City States, Delhi has performed the best, followed by Goa and Chandigarh.

GEhioh H TSAT 3h1 LT AT W AToee! T 3ht Tt & — fifcr, sreem uftas, Fafa aftd, fafa femeamess sexi w5 ot dF Tsa: T,
HERTSE TR AT TS, UsAT H, TSTETH T Jax Ga9s T & e a8 ot 7R sREmm o1 T 2ifeHerht Tsat |, Sates i T
T g o a1 BIqw STk feATaIet et T T 2 ied Yot # fawit 3 wdsm gewi for & e arg e STk =€ |

Q-83

eng

Where is Pampa River located?

01. Maharashtra 02. Guyjarat
03. Kerala 04. Uttarakhand
05. Arunachal Pradesh



Q-83  TwT A FEl fFud 22

hi

01. HERTY 02. T

03. FTef 04. IxTEE

05. sr=urT=e Jaor
Solution for Question 83 Ans Key: 3
eng Pampa river (Also known as Pamba river)is the third longest river in Kerala after Periyar and Bharathappuzha. Sabarimala temple

dedicated to Lord Ayyappa is located on the banks of the river. The river is also known as ‘Dakshina Bhageerathi’ and ‘River Baris’.

hi T T A H AR S AT o 918 dTe Herd oielt 4T Qo 7 i gar A4y, gferor sieft© qe ‘e 7€ (River Baris) % am @
oft ST ST 315 STt i T Ferimrer wfe 9r Ad % qe W feua 2

Q-84  First Kisan Special Parcel Train flagged off from Devlalito__.

eng
01. Danapur 02. Dhanbad
03. Dewas 04. Datia
0S. Dhimapur
Q-84  TEAT ToRET TULS TTHA S I qqATAT =6 (o0 TATAT (AT 4T,
hi
01. AT 02. gadTE
03. Z=me 04. =fa=m
05. femTI
Solution for Question 84 Ans Key: 1

In the Union Budget 2020-21, Minister of Finance had made an announcement ‘to build a seamless national cold supply chain for
perishables, inclusive of milk, meat, and fish. It was also stated that the Indian Railways will set up a KISAN RAIL. Indian Railways is
introducing first "Kisan Rail" from Devlali to Danapur. The train will provide seamless supply chain of Perishable produce.

A T R030-38 H, Tt wfl T weh wIwor =AY off "Uftareret % fIq e Ferter gt shieg wwedrs = sHM o e, o gu, Hiw ST gl wfie
&1 7E oft F1 T o o vt e Tk KISAN RAIL ot eoem shim w1 {otel gect ' fohem $o1'' sht J[eeTTd Jaetrell § ST e L T
21 77 3 UfTeret Sedred ot e STafd e e i

Q-85 (National Payment Corporation of India ) NPCI will build its smart data centre in which city at an investment cost of Rs. 500 crore?

01. Mumbai 02. Bengaluru
03. New Delhi 04. Hyderabad
0S. Gujarat

Q-85 AT & WP AT A (NPCI) 500 FIIE FTF T Terer AT 9% 368 T § ST=1 THTE 2T e aaru?

01. Has 02. e

03. 75 freeft 04. FavraTe

05. o
Solution for Question 85 Ans Key: 4
eng The National Payment Corporation of India (NPCI), the umbrella organisation for operating retail payments and settlement systems in

India, is all set to launch its own Smart Data Centre in Hyderabad. NPCI said it had chosen Telangana as it is one of fastest growing IT
corridors in the country.

hi ¥ UHe e i sfear (NPCI), wrd # et yram R Fuem st & @=ie & e sl 91ed, 2aee #§ 3701 T SRt Het
T F % g Fa 81 NPCI 3 @1 fof 36 TorTHT 61 A7 o7 Fifeh I8 337 § Tl asft § gl 152! Tormil # 8 T 2

Q-86 In order to attract tourists which state has launched the 'Intezar Aap ka' Campaign on social media?

eng

01. Madhya Pradesh 02. Uttar Pradesh

03. Tripura 04. Goa

05. Uttrakhand
Q-86 T F AT e * o Fore Trs7 o Hrerer MAT 9% ZASE AT T ATHATT 9% AT 82
hi

01. weq ya9r 02. 3T T



03. BT 04. TraT

05. IvTEs
Solution for Question 86 Ans Key: 1
eng Madhya Pradesh Tourism board has launched a campaign “Intzaar Aap Ka*. The campaign has been launched on social media platforms to
attract tourists to the tourist places of the state. Through the campaign “Intzaar Aap Ka”, the Madhya Pradesh Tourism Board has been
inviting tourists by describing about each tourist destination in an attractive way.
hi HEF TR T SIS A Toh AW SIS STt & FoRAT 81 TS o TS Toell T TUEhi i ST i o (oTC AT Hifea wiewmit
AN & R T ) e WawT Teied a1S A "'SaST AT AW o HTeAW ¥, e THed qed o o H THYS qleh 8 Ui b qaeehi
T AE foRam R
Q-87 What is the theme of the International Day of Cooperatives 2020?
eng
01. Cooperatives Enterprise Empowers Women 02.  Choose Cooperatives choose equality
03. Cooperatives for Climate Action 04. Cooperatives Enterprise Empowers People
05. Public and Cooperative Legislation
Q-87  HEEIRAT & sawigia feaw 2020 #t i #4782
hi
01. FEFTIT I2TH ARATH HT qorh aqar 2 02. FEHTAT 9 q9T=ar 94
03. ST FILATS F forT FgahTar 04. TEHTL T2 AT T FRF a=TaT &
05. \TEST=F 3T Ay fFam
Solution for Question 87 Ans Key: 3
International Day of Cooperatives is celebrated on 4 JULY 2020.This year the theme is 'Cooperatives For Climate Action'. It was chosen
to address the threat of greenhouse gas emissions and global warming and to support Sustainable Development Goal (SDG) 13 on
Climate Action.
AEHTIAT b1 Sfaerg T feag 4 s 2020 1 FR T 36 a9 1 o 'HisATi{ceq B FATEHe TR (SIearg FRATS o 010 TeahMdr) 8l 36
HRTSE 9 IcdsH 37T Teflelet JTHT o WAl sl Telerd i 3T Sictary forerma & fofe aq fasm wear (vaeisht) 13 o1 aqed & o fore g
T o1
Q-88 After Mizoram, which state Government has decided to ban commercial import and the sale of dog and dog meat?
01. Sikkim 02. Assam
03. Himachal Pradesh 04. Manipur
0S. Nagaland
Q-88  TsiieH = arg, o T757 |31 7 Fl 3T Fl 6 | F AT AT AT 0T T2 TTAFE A T o T (6T 22
01. =fFw 02. 399
03. AT T2 04. wiorq=
0s. e
Solution for Question 88 Ans Key: 5
eng The Nagaland government has decided to ban commercial import and the sale of dog and dog meat. The Mizoram government had taken a
similar decision in March.
hi ANTICIE RN A Tl 3T 3l o HiE o SATGETRIe TG SR forshl 0 wfereer T a1 et fora 2| st TR 3 71§ 36t aig o1 for fomm
o
Q-89  Which ministry has launched “Chunauti”- Next Generation Startup Challenge Contest?
eng
01. Ministry of Electronics and Information 02. Ministry of Commerce
Technology
03. Ministry of Skill Development 04. Ministry of Women & Child Development
05. Ministry of Jal Shakti
Q-89  BTAEH, T H HATAT G ‘AT — oI STALIT FTEAT FAST TTAITHIAT T LR F3ham 12T 872
hi

01. soreifae T goaT STt #ora 02, Frfores J=mad
03. Frorer T goTerg 04. wfger ud arer e w=merT
05. 71 orf<F T




Solution for Question 89 Ans Key: 1

eng To further boost startups and software products with special focus on Tier-1I towns of India. Identify around 300 startups working in
identified areas and provide them seed fund of upto Rs. 25 Lakh and other facilities.

hi AR o foR-2 I= W =iy & 39 o 9 W S H9edIT ScaTel shi TR g TIfef~ad &5 § s L 1 o 300 wrderw i
TEEH HAT IR I8 25 AN T T hl TR TRT (e ®) T 3777 G Iuersy

Q-90 When was Pradhan Mantri Jan Dhan Y ojana announced?

eng
01. 15th August 2015 02. 26th January 2014
03. 15th August 2016 04. 25th August 2014
05. 15th August 2014

Q-90 10 YTHHT ST & ST ¥ AT T ¥ T A2

hi
01. 15th August 2015 02. 26th January 2014
03. 15th August 2016 04. 25th August 2014
05. 15th August 2014

Solution for Question 90 Ans Key: 5
Announced on 15th August 2014, PMJDY is National Mission for Financial Inclusion to ensure access to financial services, namely,
Banking/ Savings & Deposit Accounts, Remittance, Credit, Insurance, Pension in an affordable manner. Completes six years of
successful implementation. The number of total PMJDY accounts stand at 40.35 crore. Rural PMJDY accounts stand at 63.6 percent.
Women PMJIDY accounts stand at 55.2 percent.
15 srred 2014 =1 =ifva, PMIDY fordtr ramsti s fore wedia firerm &, S fob foredtr ramsti, steriq, dfs / s=ra oTi Smr @rdi, Juor, shiee,
SfHT, YR 1 T BTt alieh & ST GG i o f07q 2SE 81 & a6 wrR-aad & 90 Fal i PMIDY @i i wear 40.35
FUS 2T drursiEiars @ 63.6 ufaerd € ufee dersidars 55.2 gfaera 2

Q-91 The term ‘Armageddon’ is associated with-
01. Chess 02. Hockey
03. Table Tennis 04. Basketball
05. Squash

Q-91 'S e e AT =T g B2
01. 9gravst 02. Zifr
03. oot ofqe 04. FTEFTe
05. &grer

Solution for Question 91 Ans Key: 1
Term is related with Chess.It’s similar to a Super Over in cricket or a penalty shootout in hockey or football.In an Armageddon game
White has more thinking time on the clock than Black but a draw on the board scores as a Black win. Normally White has five or six
minutes and Black four or five for the entire game.

hi IT o8 AL § Heiferd ) AE fohehe H FoX TSR F T & AT Siehl AT a1l § UAee! [EHTIE 8] HATHIS 117 H T3 shl Tl i Gl H seteh T
e = T THA BT 7, WA 5oidh Siid o &9 § A1 ThR T TH S ST 81 3T TR T 5815¢ H 9 A1 B8 e B & 3R U & & g s
ELIRIE]

Q-92  'NakuLa'is situated in which state?

eng
01. Sikkim 02. Ladakh
03. Bhutan 04. Nepal
05. Jammu & Kashmir

Q-92 7 AT & 5T H R &2

hi
01. fIfzw 02. ==rE
03. s 04. J9Ter
05. STF ST FewTT

Solution for Question 92 Ans Key: 1

eng Naku La sector is a pass at a height of more than 5,000 metres above Mean Sea Level (MSL) in the state of Sikkim. It is located ahead of



Muguthang or Cho Lhamu (source of River Teesta). China has been developing two air defence positions that will cover the 2017
Doklam stand-off area and also Naku La in Sikkim.

hi e dae fafeern g & vz a @ 5,000 Hiex & HAfie i $oms W U o 2| T8 GART A1 <0 Arg (At e v E) o A ford 21 =\
31 91 T Uat ki forehfad st T 2 S 2017 Sieha Te-3HT% & shi hat s iR fafeern & o o of
Q-93 Channapatna toys are a particular form of wooden toys (and dolls) that are manufactured in the town of Channapatna in the Ramanagara district of which
eng state?
01. Nagaland 02. Manipur
03. Karnataka 04. West Bengal
05. Gujarat
Q-93  =HTeAT fae T % e (i i) 1 uF Few =9 ¢ S | 757 F THA frer F Ferver g7 # [T B s g2
hi
01. et 02wz
03. FATeH 04. otz Fare
05. SR}
Solution for Question 93 Ans Key: 3
eng This traditional craft is protected as a geographical indication(GI).As a result of the popularity of these toys, Channapatna is known as
Gombegala Ooru (toy-town) of Karnataka.
39 qRUeh f37eq 1 Ush siiferss Tehd (GI) o &9 § Tefara foram Sar 81 39 RaciiF it AThREraT o TRUTTRaEd, F=T9eT i HA1eHh %
e % (ReeiFT-218T) o &9 H ST ST 2
Q-94 Which among the following country jointly conducts Avia Indra military exercise?
01. India and France 02. India and China
03. India and Russia 04. India and Nepal
0S. India and Japan
Q-94 Fwfofad § & F19 97 390 99 =T F A3 27 T2 T AT FLdT 8?2
01. w7 i< ®ig 02. T =T i
03. «d =fiT =9 04. ST ST AT
05. AT ¥ ST
Solution for Question 94 Ans Key: 3
The service specific exercise AVIAINDRA held between Indian Air Force and Russian Federation Aerospace Force (RFSAF). The aim of
this exercise is focused towards anti-terrorist operations in bi-lateral scenario.
Tar faftte sr=ma AVIAINDRA st arg &1 31 &6t o9 wriedd o (RFSAF) % st st feram mom 3@ stvarme 1 3e9 fg-urd
aitged § sTrdehars foreft SIfimmt i oK fsd 2
Q-95 The Central Mechanical Engineering Research Institute(CSIR) is located in which state?
eng
01. West Bengal 02. Tamil Nadu
03. Uttar Pradesh 04. Madhya Pradesh
05. Andhra Pradesh
Q-95  #HeA gafawa sti=an fRE= Teiele (CSIR) e =7 7 a2
hi
01. afw srrer 02. FfHeaTg
03. 3T T3 04. 7 Taer
05. ey gaor
Solution for Question 95 Ans Key: 1
eng The Central Mechanical Engineering Research Institute is a public engineering research and development institution in Durgapur, West
Bengal, India. It is a constituent laboratory of the Indian Council of Scientific and Industrial Research.
hi

CSIR-CMERI develops World’s Largest Solar Tree.
Toet Hepfahet SSifafeT fer Seeiee giqy, dafem shTTer, sTRd # Ueh SeisTieh SSifafar STgeem 3 foerme Jeam 2R TRk Sunfie it
N STFEU™ Tityg 1 T B ST 2ICSIR-CMERI ford 1 @it 9/gT 6R 9 ferehfra e 2




Q-96

What is the name of the scheme which provides training and skills to the women in traditional and non-traditional trades?

eng
01. Kishori Shakti Yojna 02. Rashtriya Mahila Kosh
03. Swayamsiddha 04. Swawlamban
0S. Swadhar
Q-96  H TISIHT T ATH FAT & ST TRATE 3T I-TRAF AT § AIGATSAT T TTAA ST HIMA T&TT FcAT 82
hi
01. fRemmT orfxF rotaT 02. gy wigam wr
03. =gfg 04. T=TaCE
05. =Y
Solution for Question 96 Ans Key: 4
eng Swawlamban scheme is to provide skills that give employability to women. To provide competencies and skills that enable women to
become self employed / entrepreneurs. This scheme is for socially distressed women and girls of the age group of 18-35 years, women
from BPL families, women in moral danger, transgender communities.
hi TS ASHT i JGH FLA o A 8 S ATGATAT T USTIR ol 2 HTeerat sl TSR / et s o T HermdT 3R hiered S w1
ST |THTISE &9 & SA7d Afeanatt AR 18-35 3 st 11 ot i i, st TiaRi i Afearat, i Tat § AT, Ziasist aqemt
= fou 2l
Q-97 Who has been named the men's cricketer of the year at Cricket South Africa's (CSA) annual awards 20207
01. Dean Elgar 02. Quinton de Kock
03. Kyle Abbott 04. Chris Morris
0S. Kagiso Rabada
Q-97 o ZTRAT SIORTART (CSA) 3 AT TXERTE 2020 | 36 a9 T T2W Fhe? = =6 1w 82
01. U 02. fFea St #i®
03. FTza UAle 04. e wifve
05. FHRrET w@reT
Solution for Question 97 Ans Key: 2
White-ball skipper Quinton de Kock was named the men’s “cricketer of the year’ at Cricket South Africa’s (CSA) annual awards
ceremony, held virtually due to COVID-19 pandemic. Pacer Lungi Ngidi was named ODI and T20 player of the year while David Miller
was voted the fans’ favourite player.
Tohehe STRTOT STShieT o (VT STfYeh JREeh HHIIE H SRIse-aiict o AT e I shich i JeSi o1 'fohehet ST & $a’ ATHA foha 71T o U
Tt GARTE ol |11 1 Uehfeaet TR 2 20 Raaet g1 o, Sefer Sfore faerm = wereen o wedier faae! #i ae faam |
Q-98 Which social media platform has launched the campaign "It's Between You" in India?
01. Facebook 02. Telegram
03. Instagram 04. Whatsapp
05. Twitter
Q-98 o Frere AT wewid T WA # "32q fAediy 1" qfwame gF T e?
hi
01. ‘%‘q-gﬁ 02. =M
03. ZremmH 04. =ZTeHTT
05. ﬁaa
Solution for Question 98 Ans Key: 4
eng Messaging giant WhatsApp has launched its first brand campaign ‘It’s Between You’ in India that narrates real stories about how Indians
communicate daily on WhatsApp 'in their closest relationships.'
hi BFARSAT famTel seTcHud 3 YT | 10T Uee sie A 'seu foeg 7 "di fora &, S areaferss srerfa=it o1 aufd shar & fo6 vt Asmm
Y feheay deel | sgreHud W HaE A 8l
Q-99  Which of the following is not the function of RBI?
eng

01. Custodian of foreign currency 02. Printing of currency



03. Controller of credit 04. Issuance of coins
05. Banker to the Government

Q-99 fAfofad & § #1 a7 F1d AT R 9% 7 T8l 22
hi
01. el 7z &7 Fearfsa 02. wzT T HZ0
03. oy 7 FE=r® 04. At =1 ST gET
05. |TFHT FT d5F
Solution for Question 99 Ans Key: 4
eng The Government of India has the sole right to mint coins. The responsibility for coinage vests with the Government of India in terms of
the Coinage Act, 1906 as amended from time to time. The designing and minting of coins in various denominations is also the
responsibility of the Government of India.
hi AT ThT o T8 foaent ot TendT AT BiftererT 2Afufem 1906 & deyf § YRd ULhR & 919 9T-HHT 9T @39 & g foees
e, fafir= guemt § frrent it fesmgfim it @ off wra awer it e R
Q-100 The Reserve Bank of India (RBI) has released the Monetary Policy Report for the month of August 2020.The central bank kept the repo rate unchanged
eng at what percent?
01. 3% 02. 3.35%
03. 4% 04. 4.25%
05. 5%
Q-100 wTca e &9 (RBI) 7 3T 2020 F forw ®ifea Fifq FO1E S it 81 F50T 9 7 797 T2 A7 e Traard 92 sraRafdd war 82
01. 39 02. 3.35%
03. 4% 04. 4.25%
05. 5%
Solution for Question 100 Ans Key: 3
The RBI kept the repo rate unchanged at 4%, reverse repo rate at 3.35%, and marginal standing facility (MSF) rate and the Bank Rate at
4.25%.
RBI 7 1t T &1 4%, fag Wi et 3.35% ot mifsia wfén wfferet (MSF) i 3t 3k 8 12 &1 4.25% T smfafdd w@i
Q-101  Free and compulsory education is provided to the children who are in between which of the following years?
01. 5 to 13 years 02. 8to 16 years
03. 7 to 15 years 04. 6 to 14 years
05. 6 to 18 years
Q-101 7: o oit¥ srfaam fovear 37 argt 1 war &7 St g S *forfera & & g ad % i & 82
01. 5% 1397 02. 8 169
03. 7¥F 159 04. 6% 1491
05. 6% 18HT
Solution for Question 101 Ans Key: 4
eng The Constitution (Eighty-sixth Amendment) Act, 2002 inserted Article 21-A in the Constitution of India to provide free and compulsory
education of all children in the age group of six to fourteen years as a Fundamental Right in such a manner as the State may, by law,
determine.
hi wfoe (86 ar wwirer) sAferfem, 2002 7 ¥Ra & "fou™ § s1=se 2 1-TH 8 @ =iee a¥ i 31y & a¥ft s=ai &1 7 e 3 At
78T e e o foIT wen Hiforer STfUehi & &9 8 U9 o &9 § 36 a3 § GitAferd foram ST aehar 21
Q-102 Rani Rampal is an Indian hockey player. She She became the first Indian woman to win an Rajiv Gandhi Khel Ratna Award 2020. She belongs to which of
eng the following states?
01. Telangana 02. Odisha
03. Madhya Pradesh 04. Karnataka
05. Haryana
Q-102 T TTHITH UF WA giht Faarst 81 ag Trsia el @ T qEEnT 2020 Sae arat qgeft A qigar s ag Fefafead § & B sy
hi 82



01. JeETET 02. sferm

03. meg woT 04. FATeH
05. gfrmo

Solution for Question 102 Ans Key: 5

eng Rani Rampal is an Indian field hockey player from Shahbad(Haryana).At the age of 15, she was the youngest player in the national team
which participated in the 2010 World Cup. For Rani Rampal, the first woman hockey player to get the Rajiv Gandhi Khel Ratna, India’s
highest sports honour. Only male hockey stars Dhanraj Pillay and Sardar Singh have received Khel Ratna. Rani is among the five chosen
this year - Rohit Sharma (cricket), Vinesh Phogat (wrestling), Mariyappan Thangavelu (para athletics) and Manika Batra (table tennis) are
the others.

hi T THTE STTRETe (FfETm) i v R diee Sreht faardt 71 15 ad i o1y |, g Ui A ged 3w Y Raenet off, e 2010 fag
Y T AT TR oM THT T, TSt T T T, SR 6 daliod Ot SR 8,91 dTell Jeel! Aieell RIcTe! SISTHAR 98 989 giehl faari gt
foeet oflt TRer fig 1 O T W g1 =1 THT 39 e 9 T b Raenfedt § € § - Ufea wmt (frehe), foriwr wrre (e, wierem ammag (S
wrifead) ST AfeRT s (5t o).

Q-103  What is the minimum amount required to open an account under Sukanya Samriddhi Yojana (SSY)?

eng
01. Rs550 02. Rs450
03. Rs. 750 04. Rs. 250
05. Rs. 1000

Q-103  TFH=T GYfZ AT (SSY) F T&d @TAT Gl & (oI AT ATH 1T F47 82
01. 550% 02. 450%
03. 750% 04. 250%
05. 1000 =

Solution for Question 103 Ans Key: 4
Sukanya Samriddhi Account (Girl Child Prosperity Account) is a Government of India backed saving scheme targeted at the parents of
girl children. The scheme encourages parents to build a fund for the future education and marriage expenses for their female child. The
scheme was launched by Prime Minister Narendra Modi on 22 January 2015 as a part of the Beti Bachao, Beti Padhao campaign. The
scheme currently provides an interest rate of 7.6%(for Apr-July 2020 quarter) and tax benefits.
o1 THfg W (Tt =13es HTHie! STohiSe) A Lehi i Ueh HHTd s ATSHT 2, Sil STcishtati o HIaT-19dT o foTe @ferd 21 9 AT Arar-
forar =1 wforsr St fRrem 3T A AfeeT =2 & folT 3MEt & @< o U T 1Y sHH & fIw Trediied st 81 36 ISHT o6t T g 91d) g0
22 Seatt 2015 it siet ST, S T@TeA! AT & Ueh T o &9 H Y& fopal T o1 S0 § 98 A1 7.6% i st &€ (1a-ers
2020 fomme & ) 37t T e Je T et 2

Q-104 SuM4Allinitiative, sometimes seen news is related to which of the following global initiatives?
01. Sustainable Development Goals (SDGs) ~ 02. World Bank's Multi-Country AIDS Programme
03. Climate Action Plan (CAP) 04. Health Action Plan
0S. Carbon Emission Action Plan

Q-104 v FHTERT # A= “SuM4AIP Tga, et § & fra 3t Tga & dafeq g2

hi
01. wqq fasma T&T (SDGs) 02. fosg S FT Aoel Hel USH TTH
03. SaTg FTF AT (CAP) 04. T FF AT
05. FTa IS HTd ATSTAT

Solution for Question 104 AnsKey: 1

eng Not a single country — developed or developing — is on track to achieve sustainability in the transportation sector and attain the
Sustainable Development Goals (SDGs) mandated by the United Nations, according to a report by Sustainable Mobility for All
(SuM4ALll) initiative. The SuM4All initiative, launched in 2017, is an umbrella platform that brings together 55 public and private
organisations and companies to act collectively to implement the SDGs and transform the transport sector. The report, charted a Global
Roadmap for Action (GRA), which provides a catalogue of policy measures that have been used and tested around the world to achieve
four policy goals — universal access, efficiency, green mobility and safety.

hi FEee Hifafore B 3w (Sustainable Mobility for All: SuM4L) vea it te Ui % ST7ER, Titee &= § SUrofiEdT S T 3T

I e g0 Fuifia gaa fase @eat (Sustainable Development Goals: SDGs) @i &t st fewm # foskfira = foremrefier aum &
=13 oft T & T @ SISUMAALL weet 2017 3% 1 TS, ST U STFIAT IEWiH 8 St 55 Weiste ST FSt §eAl qom FHata
SDGs ! AT X 3 qitae & § =TT GUR FH F g Tehsfe st S #, T e Teig R twe (Global Roadmap for
Action: GRA) &dtford &t 7, St ITTa ST 1 Tk shed 1T Y LdT &, FSreht ST forg ot & =R Aiferta aredt aom s a8,
gaFa, ita iastierar 3R geam (universal access, efficiency, green mobility and safety) @t s st & fore foram S 2



Q-105

eng

Bhaskar Avhad who passed away recently was a veteran ?
01. Singer 02. Journalist
03. Businessman 04.  Advocate

05. Musician

Q-105  <TeH7 sraes ST g1 & # e g1 o, a8 7
hi
01. T+ 02. ==
03. sTeETet 04. T
05. i
Solution for Question 105 Ans Key: 4
eng Senior advocate and author Bhaskarrao Avhad passed away. He was 78.
hi g STfEdT TR TEsh AR 3a8a 1 e & a1 a8 78 a9 & 9
Q-106 Name the climate activist from India who has been named in the UN Chief’s New Youth Advisory Group on Climate Change?
eng
01. SudhaJha 02. Archana Soreng
03. Meena Kumari 04. Preeti Nangia
0S. Rita Verma
Q-106 AT & STAATE FTAFHAT T ATH T 1Y THE & 90 AT TATZHL THg H T Tade 92 AT 6371 =T 82
01. FeT=T 02. =T HT
03. a7 HuTT 04. fifq wifira
05. Far =t
Solution for Question 106 Ans Key: 2
Indian climate activist Archana Soreng named by UN chief to new advisory group.
TR SCTaTg AR STEHT G 31 g g @ ¢ AeATeshR FHg 1 7 foa =)
Q-107  Which venue in Haryana has been chosen to host the fourth edition of the Khelo India Youth Games?
01. Ambala 02. Karnal
03. Rohtak 04. Panchkula
0S. Hisar
Q-107 ERATON % fo6 T FT AT STAT T T F =19 HEHLIT 6] HSATAT 6 (o1 IAT AT 82
0L siarer 02. Ferer
03. <rga® 04. =reeT
05. fREmw
Solution for Question 107 Ans Key: 4

eng Panchkula in Haryana will be hosting the 4th edition of Khelo India Youth Games, Sports Minister Kiren Rijiju announced along with
state's Chief Minister Manohar Lal Khattar.

hi BT W eI § e AT I TR o ST HEROT shi WS 2T ST, T HeAt o RIS o TS o e ATt et et o | |won
1

Q-108 How much grant has been given to India by Asian Development Bank (ADB) to combat COVID-19?

eng
01. $ 1 million 02. $4 million
03. $ 3 million 04. $ 5 million
05. $ 10 million

Q-108 COVID -19 FT GHIEHAT F % oI TIAATE T S5 (ADB) TRT 91T 1 fohaeT SIqaT & 7 87

hi

01. $ 1 Afers 02. $ 4 fAferaw
03. § 3 fferae 04. § 5 fera



05. $ 10 fafem=

Solution for Question 108 Ans Key: 3

eng

Multilateral funding agency ADB said it has approved USD 3 million (about Rs 22 crore) grant to India from its Asia Pacific Disaster
Response Fund to further support the government's emergency response to COVID-19 pandemic. The grant, which is financed by the
Japanese government, will be used to procure thermal scanners and essential commodities to strengthen the India's COVID-19 response.

hi Tguaf o arwor Tt wEieht 7 et o 3o COVID-19 wemr & fofe §err 31 STTarderTed Sfafsram st qweiT st o o 1o it serid
HTIET SfoRaT i & A 1 3 fforem srlisht STer (AT 22 g &) 1 STge Sed [T 8, S o ST S T faradifa 21w
% COVID-19 wfifsra sl At i & [T o Thet TR SATawe TEq3l hi @IS o [ SEATer o ST
Q-109 What is the extended deadline after which hallmarking of Gold Jewellery will be mandatory?
eng
01. March 31,2021 02. May 1,2021
03. November 30, 2021 04. June 1,2021
05. March 1, 2022
Q-109 faEaTia o T 747 € S 912 Mee Saay il gIAnta e gn?
hi
01. 31774, 2021 02. 1#%,2021
03. 30 74e, 2021 04. 13,2021
05. 1HTH, 2022
Solution for Question 109 Ans Key: 4
The government has extended deadline for mandatory hallmarking of gold jewellery and artefacts by over four months till June 1, 2021,
in the wake of the ongoing Covid-19 pandemic, Consumer Affairs Minister Ram Vilas Paswan said.
SR HHAT o HAT THIATE GTHa o el foh TLhR o = & g - 19 7emrl & qesi 1 57, 2021 T € & 30T 3T FHerrepiadr shi
Al ErerrfeRT T THT T gT 4 2
Q-110  Which of the following has partnered with National Skill Development Corporation (NSDC) to train rural youth for financial services jobs?
01. Ujjivan Small Finance Bank 02. Fino Payments Bank
03. Utkarsh Small Finance Bank 04. Airtel Payments Bank
0S. AU Small Finance Bank
Q-110 Ffofaa & & e g witere o AT (NSDC) = |1 Ireftor Jarstt &1 faii & At  forg storferd #w & foro wrfard i1 82
01. IS{taa =1 fae o 02. AT THH &%
03. gy o faey o 04, TATET THZH o
05. T TS FIEAT I
Solution for Question 110 Ans Key: 4
Airtel Payments Bank Ltd has joined hands with National Skill Development Corporation (NSDC) in a bid to train and skill youth from
rural areas on financial services, helping them to find jobs and become entrepreneurs in the sector.
hi TS YveH s fafies 7 fordfter Srameti wx oo & o Jarei sl gifed s 3T 37 USTTR WIS | Wag i o fore e shreret foshrer fome
(TTueEiet) & |y grer faern 7, e 3 30 & § U e e 3R o Serdt o weh)
Q-111  What is the theme of World Hepatitis Day 2020?
eng
01. Invest in eliminating hepatitis 02. Hepatitis-free future
03.  Find the Missing Millions 04. Eliminate hepatitis by 2030
05. Hepatitis-free India
Q-111 o goersfed faaw 2020 F1 v #7822
hi
01. Zoerefed i @er 3 # e #2 02. FeTefed-H AT
03. wrze 7 ffeeT fafeme= 04. 2030 TF FUSTSIH T TH F
05. ZFUeTsfer-H<h ATd
Solution for Question 111 Ans Key: 3
eng World Hepatitis Day (WHD) takes places every year on 28 July bringing the world together under a single theme to raise awareness of

the global burden of viral hepatitis and to influence real change. In 2020 the theme is 'Find the Missing Millions'.




hi forg guersien feam (WHD) &2 wret 28 ST i g i o ws & fower o qed arene eueisied & A aigt o i # STeehdl sgi 3R
arEdfae afEd i Twifad i % fore we @ @mar 81 2020 ¥ ofiF § 'wee gl fufoe'l
Q-112  Who is the author of the book ‘Greenlights’ going to be published in October 2020?
eng
01. Harper Lee 02. Mark Twain
03. Matthew McConaughey 04. John Steinbeck
05. Gary Oldman
Q-112  37=Fa 2020 H WHTIAT 2 ATAT TeqF TAATIEH' F AGF I 57
hi
01. zrivef 02. 7T T
03. oy gt 04. St T
05. ¥ sAre=ie
Solution for Question 112 Ans Key: 3
eng Oscar winning actor Matthew McConaughey to release first memoir 'Greenlights'.
hi TRt forsraT ST ey HehehiATel o Teer Hertor 'fiqemsed’ SRt foram
Q-113  Where is Kakrapar nuclear power plant situated which has become the first indigenous nuclear reactor to attain criticality?
01. Udaipur 02. Surat
03. Meerut 04. Patna
05. Chennai
Q-113  FTHIITT TTHTY FST A Fgl 0T & ST AgeaordT ITH Fe ATAT TgaAT Fqaeft T2Hro] Ruse? a9 147 82
01. IEaqR 02. 7zq
03. 775 04. TeAT
05. =3
Solution for Question 113 Ans Key: 2
The third unit of Kakrapar Atomic Power Station is a 700 MWe capacity Pressurised Heavy Water Reactor (PHWR) and is located in the
Tapi district of Gujarat. This Kakrapar 3 plant is fully indigenous, making Aatma Nirbhar Bharat a reality. The first two units of Kakrapar
power plant were based on Canadian technology.
IR TCHTY Srett LI 31 AR 3618 Tk 700 HTTaTe &HaT 1 gerages 9 sid feger (PHWR) # 3 7% 7ot & ardt ey & feord 21
I8 FHIHIIR 3 T T | Tawht 2, fa@ = vl T i vk arefareraT s o T 31 STeam aTer weie st aeelt &t SehTga TSl i
ek Teh 9T SATETRA ol
Q-114 By which year will the Indian Railways begin using Radio-Frequency Identification Tags (RFID) for tracking all wagons?
01. 2022 02. 2023
03. 2024 04. 2025
05. 2026
Q-114 T T TF AT T THT AT 1 3 FLA 5 (o1 ASAT-TRIFHT A3 TR 1 (RFID) T STANT §[F FT 312
hi
01. 2022 02. 2023
03. 2024 04. 2025
05. 2026
Solution for Question 114 Ans Key: 1
eng The Indian Railways is fitting radio-frequency identification tags (RFID) in all the wagons. These tags will be used for tracking the
wagons. Railways is planning to complete tagging all wagons by December 2022.Using RFID devices will be easier for the railways to
know the exact position of all the wagons, locomotives and coaches.
hi IR o aft et § ean-shieadt gg=m &1 (RFID) o & 81 37 27 3T SWT T i 3o ot o fore fomam simemm) e fawer 2022
T |t T hT G T hT ASHT T TT 2l 10 o forq @ft oo, 51 7R i oht |2t Reerfa St o o STRUw3SEl Sushtvtt o1 39
ST SEE 21
Q-115  Inthe name of whom did the Rajya Sabha secretariat launched an Employees’ Welfare Scheme?

eng



Q-115
hi

01. Arun Jaitley 02. Sushma Swaraj
03. Atal Bihari Vajpayee 04. Sheila Dikshit

05. Amar Singh
TSN AT | T qTH 9% TFH FHAT HeA T ST 8 612

01. sr&or Sieeft 02. AT FTTS
03. sreer fagmey At 04. ofter Afera
05. v foig

Solution for Question 115 Ans Key: 1

eng

The Rajya Sabha Secretariat has launched an employees' welfare scheme in the name of late Arun Jaitley which will be funded by the
pension his family receives as he has been a member of the upper house. The scheme seeks to benefit group 'C' employees of the
secretariat by awarding their children three scholarships for higher technical and professional education. Besides, the employees will be
extended financial support in case of death and medical emergency.

TST T TfeaTer 3 TriTa 3760 et & AT 98 Ueh HHaRT ool ASHT I i 8, S 39k TR gRT ST 99 & ford difta St sriifer ag ==
T F TS T8 8 I ASHT AfaTer  Tg €' F FHHAIRET ol I Todl ol Iodf AT ST AT {e % e fF smaf yem we
AT~ AT ATEdT 2| 366 STATAT, FHATAT b1 7 I Ffehean sATTaentat & et § forfier e & s

Q-116

Q-116

Who will head the committee formed by the HRD Ministry to form guidelines and suggest measures to ensure that more students study in India?

01. Krishna Verma 02. DP Singh
03. Vivek Rana 04. YS Reddy

0S.  Anita Singh CED
TS SETE TEHTE HATAT GTT ST HHTT AT (QTT-Faer FI 907 ST T AT F3 F ST GATUIT 16 A | ST AT ST SeqTT FiL?

01. oo a9T 02. <t ¥
03. 3 7o 04. FTETH TET
05. erfiar &g

Solution for Question 116 Ans Key: 2

Q-117

Q-117

Mr. Ramesh Pokhriyal ‘Nishank’, Union Minister of Human Resource Development announced that the ministry has set up a committee
headed by UGC Chairman, D.P. Singh to form guidelines and suggest measures to ensure that more students study in India and there is a
smooth transition for students returning from abroad due to COVID-19 situation. In addition to these, the committee will recommend
mechanisms to increase the intake in well-performing universities.

ST HIFT TETe T Heft ot TeT drafErer e S w5 I o Tere, it fie i sTemerdt § ush wiHfd &1 we o 2, S
feem-fder s 37 7% T e foTg 3wy gane fo s o iferss @ sifersh s s7e .

The Competition Commission of India has approved the acquisition of Krishnapatnam Port Company Limited with whom?

01. Adani Ports & SEZ 02. Dredging Corp
03. Jawaharlal Nehru Port Trust 04. Gujarat Pipavav

0S. Visakhapatnam Special Economic Zone

AT TIAETET AT 7 FETHEAH TS HOAT [ATHEE  SATAUZT T H[LT e a7 &1 52

01. srareft e sire e 02. T

03. SEATETATT TE*= IIE Z& 04. ST fdTET
05. forraTTeaw faar sfefe e

Solution for Question 117 Ans Key: 1

eng

India's fair trade regulator, Competition Commission of India (CCI) has approved acquisition of Krishnapatnam Port Company Limited
by Adani Ports and Special Economic Zone Limited(APSEZ).

hi

T o freuer s s, sfaeaet s (CCI) 7 stert i de T st siF fofies (APSEZ) g swomvew o st fafies
& sTfemreor T TSR 2 & R

Q-118

eng

Partha Pratim Sengupta has been appointed as the new Chief Executive Officer & Managing Director of which bank?

01. Indian Overseas Bank 02. Federal Bank
03. Punjab National Bank 04. Lakshmi Vilas Bank



05. Bank of Baroda

Q-118 O witw AT & o S T 737 q&F FEFET AR o7 vae e e B @ 22
hi
01. ZfR¥a sfavHIs 9% 02. F=TATF
03. ST q9E A 9 04. FTeT FeTe 9%
05. g 3w a=raT
Solution for Question 118 Ans Key: 1
eng Partha Pratim Sengupta, Deputy Managing Director and Chief Credit Officer at State Bank of India, has been appointed as the new
Managing Director and Chief Executive Officer of Indian Overseas Bank. The post fell vacant after the superannuation of Karnam Sekar
who retired on June 30.
hi T2 S e gfear # et Aafsim grraet iR <fiw shiee Hifthat uref wiaw Smper st Sfeam sTiawelist sfeh ot Fam BAfhT gereet o <fiw
wSiafea SHifter e foram T 81 30 ST %1 SaTed gY FUM et % US € SHIATET o o SIS I U8 @Iell ol T T,
Q-119  What is the capital and currency of Sweden?
eng
01. Bem, Franc 02. Stockholm, Krona
03. Brussels, Euro 04. Madrid, Euro
05. Berlin, Euro
Q-119  =fre &t TToTaTY /¥ 5T 47 32
01. I+, %+ 02. Ta{Fhard, T
03. F&eT, T4 04. AfFz, 737
05. afef, 71
Solution for Question 119 Ans Key: 2
Capital: Stockholm, Currency: Swedish krona. Violence erupted in the Swedish city of Malmo where over 300 people had gathered to
protest against anti-Islam activities.
TS TToha I, HET: TSI TS o HIeH! Wl H o weeh 32 stal 300 § HAfersh i seam forrelt Tiffoer o forrer # wehat gu 2l
(Q-120 Fulpati is a famous festival of:
01. Myanmar 02. Bangladesh
03. SriLanka 04. Nepal
0S. Bhutan
Q-120 oUfd UF WiHE AR &
01. =¥ 02. FRATIOT
03. sft <=7 04. FTer
05. &=
Solution for Question 120 Ans Key: 4
eng Fulpati is observed on the seventh day of Dashain festival. In Nepali,"Ful" means flower and "Pati" means leaves and plants. There is a
tradition in Nepal to bring nine types of Fulpati into homes on the seventh day of Navaratri.
hi T 9 o WISl fo Gerfed AT ST & et #, "G 1 37 § et AR "9 7 7ol ¥ U SR | T # Fa o diaqdl fod At TN
AT T BT § A Sl T R
Q-121 Which of the Phrases (1), (2), (3) and (4) given below the sentence should replace the phrase given in bold in the sentence to make it grammatically
eng correct. If the sentence is correct as it is given and no correction is required, mark (5) as the answer.
Visitors having access to restrict areas in the stadium are being monitored
01. access too restrict areas 02. access to restricted areas
03. access to restricting areas 04. access to restriction areas
05. No correction required
Q-121 o AT § TEifoha ATRITer 7 A= fa T2 ATaialt (1), (2), (3) 377 (4) | 7 Fres g wiaeamod e a7 {3 1 are AT & e 17
hi [ BT SITANT| TT T 12T aver [ © o< fonetT T S[faaneor 7 sraeashal Jel g ar 94T 397 (5) JTm)

fOoe g | ST T F gL THIS & [AHTE T TH0 @A §U S g/ FHATHRT 6 ToY ¥ T ATEcA-GE T I@d & a9 39T gIE-Si1d,
FAT &1 AT FTAAT T AR I-TET H QTS AT SATAT g |



01. AT T HEl-Ha! AT v Srar gl 02 FHTHd FT qel-Tal SIS A 1T 2
03. A hT T AL AT AN AT 04, oo T HET-HET AT o ST 2
05. FTS FETT ATT9TF 2T 2

Solution for Question 121 Ans Key: 2
eng ‘access’ is always followed by ‘to’; ‘restricted’ would serve as an adjective
hi AT T Tl-Agl SRS T SATaT 2

Q-122  Which of the Phrases (1), (2), (3) and (4) given below the sentence should replace the phrase given in bold in the sentence to make it grammatically
eng correct. If the sentence is correct as it is given and no correction is required, mark (5) as the answer.

The committee will draw up both short-term and long-term plans to ensure that people in all parts of the district get potable water.

01. potable get water 02. got potable water
03. get water potable 04.  get which potable water

0S. No correction required
Q-122 e ared | Yaifeha arerater &1 A= {33 T3 et (1), (2), (3) 3 (4) § § fres g siaeanfog w3 uw 1w @ are S F e aw
hi & BT ST Ffe o o aver g © o< fomett o srfaareor Y sraearshar /gl § a1 o= 397 (5) &)

FTE FRET T 2T WTRer T At & F9ET UTHT 9T, T AR T S STUAT q17 Sita 71 gead’ & sr=on & srfda &< fyan
01. wf geeadt % Hfrara=on # afdqa w7 02. 7Y qewadt & A= § gaftq #7 &1

e
03. wf gEadt & =fAd=on § gafda T 04, #f qEad! & Hga=on # o9 FT fam
)
05. FT< AT AT9TF Aol &
Solution for Question 122 Ans Key: 5

‘Potable water’ means ‘drinkable water’

Q-123  Which of the Phrases (1), (2), (3) and (4) given below the sentence should replace the phrase given in bold in the sentence to make it grammatically
correct. If the sentence is correct as it is given and no correction is required, mark (5) as the answer.

At a time when the generators sales have increased due to long power cuts, the solar energy devices are still being preferred not.

01. not being still preferred 02. been preferred not still
03. still not been prefer 04. still not being preferred

05. No correction required
Q-123 e aTFd & YEifehd araaier & A= &3 T A (1), (2), (3) 307 (4) § | e g staeanfid w3 0% [T T arer ST F e a7
91 BT SR AT T T =T 91 2 ire Freft of opfz

ST T ATTITHRAT A1 g AT SAIAT I (5) = ToTU)

T H ATET H ATAT GAT FHA T ATV, STHL TAT ST B HgeAT ATeAt SATIAAT & AN U AU ASGL A o HZe gIHT qUACHT qqg 7TIA T¢
S

01. Ferery T Fdqg 9¥ 317 70 ) 02. AT T THTA T 37 7T )
03. FTET T FHAA T T T A| 04. FETE ¥ T T 7 AT A
05. =T T AFLTF T2l &
Solution for Question 123 Ans Key: 4

eng ‘Not’ should come after the adverb “still” followed by ‘being preferred’
hi “Fef T 3 TITH TT AT T KT TINT FH2 |

Q-124  Which of the Phrases (1), (2), (3) and (4) given below the sentence should replace the phrase given in bold in the sentence to make it grammatically
eng correct. If the sentence is correct as it is given and no correction is required, mark (5) as the answer.

Some traffic cops were seen struggling to keep the vehicles move at few crossings.

01. moving ata few crosses 02. moved at the few crossing
03. moving at a few crossings 04. moves in few crossings

05. No correction required
Q-124 v AT | TEifha araaier &7 1= &3 T ari (1), (2), (3) 3% (4) § | e g sfaeanfod w3 0% T T are ST § e a7
hi & BT SITANT| TT AT T AT 03 & ST FneT T SIanaor 7 sraeashal del g af (94T 397 (5) JATm)

ST FH Tor T 9TET THTS, TR AT SATAF Hehel % aTas(E 7 AT T X6 AHT AN a8 TFT AT, SHT THT 97 T JTHIOT 379+ FReeqzar



AT F-TEHAT o HTLUT TH AT THTT F AT TZH T AT Teha 6 RT0T FH: ZdT FAT ST 2T AT
01. AT =T H7 9T<F AHL AN 92 T@T 2T, 02. T AT 7 qThd AHT T a8 LT T,

03. T IqaT AT aRFAFT AT A T AT, 04, FHT AT T TI<F AHT AN 9% TRl o,

05. TS FETT ATTITF 2T B

Solution for Question 124 Ans Key: 3
eng ‘A few’ would be used which means ‘many’
hi T A U TS HT TAN L

Q-125 Which of the Phrases (1), (2), (3) and (4) given below the sentence should replace the phrase given in bold in the sentence to make it grammatically
eng correct. If the sentence is correct as it is given and no correction is required, mark (5) as the answer.

The Mahatma Gandhi National Rural Employment Guarantee scheme has definitely given economic independence to rural women and brought off an
change in their social status

01. brought about a change 02. brought in some changes
03. brought a change 04. brought forth a changes

05. No correction required
Q-125 v ared | YEifeha araater &1 1= &3 T A (1), (2), (3) 377 (4) § F fres g staeanfoq w3 a2 3w T are ST F e a7
hi [ BT SITANT| TT T 12T AT [ © o< FonetT T S[faneor 7 sraeashal Jel g ar ST 397 (5) JTm)

o, T, Tl AT aTFe it orfch T wifqefie a9 38 afatwarares 9urs &7 v0Eq S T 971 € o s 1t & 99z Ata § T
T Tl

01. wfaframaTay aomst #r aered &7 fear 02, wiaferar swerfia qwrst & siyq o
03. wfafrT aameEr ®r g F T 04, siaframaTs g 7 g w7 T
05. FT< UL AA9TF Tl &
Solution for Question 125 Ans Key: 1

’Brought about’ means ‘make happen’

gt fRaTaTe’ 3 T 97 TTAhaTaTer’ T T3 F3 |

Q-126 Read each part of the sentence to find out if there is any error in it. The error, if any, will be in one part of the sentence. The number of that part is the
answer. If there is no error, mark your answer as (5).

People should try to learn (1)/as many languages as possible (2)/because language is (3)/beyond region religion (4)/ No error (5)

01. | 02. 2
03. 3 04. 4
05. 5

Q-126 1= ToAT 3T T AT AT AT | atel 147 21 572 (1), (2), (3), (5) 31T (5) FHTH (47 TU | ST g S@AT 2 6 91T F et 907 §
STHTIT, ATHT, AT, STERT T TAT TANT T SHT TG il 1S TS ST T AT ATHT o Thell T TRT § &1 (T 36 AW &1 FH1 f 3L gl 3T

AT WL AT ST (S) AT T Aeqf Tt & 4
FE HT FTUATL THAT FA-TFA T&T &, (1)/FI1TF 75T & a9 340 (2)/FT IcTae Tt a1 91 721 & @)/ £ a@diz F1@yars stsrfa 72t 215)

01. | 02. 2

03. 3 04. 4

05. 5
Solution for Question 126 Ans Key: 4
eng ‘region and religion” should be used

Q-127 Read each part of the sentence to find out if there is any error in it. The error, if any, will be in one part of the sentence. The number of that part is the
eng answer. If there is no error, mark your answer as (5).

Madhubani paintings were (1)/originally created on walls (2)/plaster with layers of (3)/cow dung and mud (4)/ No error (5)

01. 1 02. 2
03. 3 04. 4
05. 5



Q-127
hi

A= fomT T yerE Are = 9w # "ier @ gl S (1), (2), (3), (5) T (5) FETH XU w1 st 7 3w g O ave e g §
ST, STOT, AAAT, 51 T TAT TART AT THT T T TS T S G AT ATHT % (el U AT H &1 gRIT| I TRT HT FHHAF &l 397 3| 30T

WH‘@%@'W(S) AT FIE AYTH T2t & o

g 1 AT e 7 &7 (1)/3r=5t a¥g a9t o=t A1y 3 )/ siaar siie fea S &1 (3)/arsT i< =ae 7 a9T0 TG S T-370T
TTT B1(4)/FTS A9fE 7L 21(5)

01. 1 02. 2
03. 3 04. 4
05. 5

Solution for Question 127 Ans Key: 3

eng

‘Plastered’ should be used- which would work as an adjective for ‘walls’

Q-128

eng

Q-128

Read each part of the sentence to find out if there is any error in it. The error, if any, will be in one part of the sentence. The number of that part is the
answer. If there is no error, mark your answer as (5).

Everyone gives sermons under(1)/ cleansing the political system (2)/but no one seems interested (3)/in belling the cat (4)/ No error (5)

01. | 02. 2

03. 3 04. 4

05. 5

= o= T T AT = A # "ter =@ 21 5 (1), (2), (3), (5) T (5) Fiw T u F) raehy 7E S@Ar ¢ R A e w7
TR, TTHT, T, Q51 T TAd TART T ZHT TG T IS (e SR G AT ATHT % [ohell T AT § & EIT| IH TR T HATF @l 3¢ 81 [
FTHFT AT ¢ AT I (5) Aot “FrE ererfy 781 & fm)

T IeqTEA (1)/3T ATEF AR (2)/F T T 6T BT (3)/ FLAT GO 1(4)/ e 797F 721 21(5)

01. | 02. 2
03. 3 04. 4
05. 5

Solution for Question 128 Ans Key: 1

Q-129

Q-129

‘On’ should replace ‘under’ — to make the sentence grammatically correct

Read each part of the sentence to find out if there is any error in it. The error, if any, will be in one part of the sentence. The number of that part is the
answer. If there is no error, mark your answer as (5).

A free medical checkup (1)/ and blood donation (2)/camp will be (3)/ organized tomorrow (4)/ No error (5)

01. | 02. 2

03. 3 04. 4

05. 5

A= fomT -y are = 9w A ater @ g S (1), (2), (3), (5) T (5) FETE R w81 st 7 @A g O ave e g §
STHTIT, AT, AAAT, T5&T T TAd TN AT THT TG T FTS & 3T G Al ATHT o Tohe(l T SR | &1 gRIT| S AR FT FHIF g1 3T gl T
FTFT HLT & AT IAL(5) FAT “FIe AL(F Aol g° JT0)
ﬁéﬁ;ﬁﬁm%m@(l)ﬁmﬁmmmﬁawﬁsrmqg:rﬁ(z)/aﬁ%&rrﬁmaﬁaﬁm(3)/33‘«'%?{10?@ @) #E
9 1(5)

01. 1 02. 2
03. 3 04. 4
05. 5

Q-130

eng

Read each part of the sentence to find out if there is any error in it. The error, if any, will be in one part of the sentence. The number of that part is the
answer. If there is no error, mark your answer as (5).

A certain crop grown in a sunny (1) /and hot climate needs per day more (2)/ water than the same crop grown in a (3)/ cloudy and cooler climate.(4)/ No
error (5)

01. 1 02. 2
03. 3 04. 4
05. 5



Q-130 1= =T 13T S arT A AT | ater 147 81 52 (1), (2), (3), (5) 31T (5) FAIH (<7 TU | ATl g @1 ¢ 6 a1 % et T 7
hi ST, STOT, AAAT, 51 T AT TART AT THT TG T 1S T S/ G AT ATHT % (el U AT H &1 gRIT| I TRT FHT FHHF @l 392 g1 30T
FTHT Tl & AT I (5) STAT “Fe AFE T2t &° Ao

AEE FATAT Iord o AT (1)/TFAT 3T STATET &l Tal, (2)/ATEF [ierg |7 (3)/FT TR adahe a4 g0 21(d)/FTs A& T2t 21(5)

01. 1 02. 2
03. 3 04. 4
0s. 5
Solution for Question 130 Ans Key: 5

eng

Q-131 Inthe following question, a sentence with a blank space is given. Below it five words have been denoted by numbers (1), (2), (3), (4) and (5). Find
eng out which word can be filled up in the blank to make the sentence meaningfully complete.

The law should get stringent and petrifying so that people shiver before committing a----------- .

01. corruption 02. violation
03. wrong 04. harm
05. crime

Q-131 &% 7 wFiFaT=! aarsd

IeT

01. 573 02. gfr
03. qEw 04. fagT
05. drew
Solution for Question 131 AnsKey: 5
Crime
For other options:
Violation (n)- not obey rules

Q-132 Inthe following question, a sentence with a blank space is given. Below it five words have been denoted by numbers (1), (2), (3), (4) and (5). Find out
which word can be filled up in the blank to make the sentence meaningfully complete.

As both groups started throwing stones at each other , the nearby market got---------------- .

01. ended 02. restricted
03. closed 04. locked
05. met

Q-132  WE @1 qFEaTEl aqisd

ST

01. S99 02. TJTET
03. fafgs 04. I
05. ffereq
Solution for Question 132 Ans Key: 3

eng Closed
For other options:
Restricted (v)- limited

Q-133 In the following question, a sentence with a blank space is given. Below it five words have been denoted by numbers (1), (2), (3), (4) and (5). Find out
eng which word can be filled up in the blank to make the sentence meaningfully complete.

Having a good anti-virus installed does not mean it is safe to click and ---------------- anything.

01. input 02. download



03. transform 04. tum

05. revise

Q-133 % &7 waTFar=t aqrsy

T

01. = 02. =T

03. wfer 04. a7

05. fa=a
Solution for Question 133 Ans Key: 2
eng Download

For other options:

Transform (v)- change
Revise (v)- rethink and change

Q-134 In the following question, a sentence with a blank space is given. Below it five words have been denoted by numbers (1), (2), (3), (4) and (5). Find out

eng which word can be filled up in the blank to make the sentence meaningfully complete.
Properly designed building and structures can stand --------- 300 years.
01. for 02. to
03. at 04. il
0S. upon

Q-134 =& F7 wHiFaT=! FqTEd

01. e 02. Sirer
03. YT=IT 04. T
05. gadr
Solution for Question 134 Ans Key: 1

For

Q-135 In the following question, a sentence with a blank space is given. Below it five words have been denoted by numbers (1), (2), (3), (4) and (5). Find out
which word can be filled up in the blank to make the sentence meaningfully complete.

Working women playing several roles have little or no time to ---------- to fitness.

01. apply 02. bless
03. devote 04. assign

05. oppose
Q-135 % &1 wafgar=ht sarey

gz

01. fagfy 02. fome=
03. fAsfy 04. i
05. Gwe
Solution for Question 135 Ans Key: 3

eng Devote
For other options:
Assign (v)- attach
Oppose (v)- go against

Passage for Question 136, 137, 138, 139, 140 (ST-112 RRBBCL (141-145))
eng Passage

Rearrange the following sentences (A),(B),(C), (D),(E) and (F) in the proper sequence to form a meaningful paragraph, then answer the questions given below
them.

(A) But their role is restricted to ensuring that the traders have proper licenses and the animals and birds are disease-free



(B) The thriving illegal trade of endangered species on the web points to loopholes in the Wildlife Act, 1972

(C) Though once in a while action is taken against those who breed and sell exotic species but it doesn’t seem to deter traders.

(D) The Act covers only species that are endemic to India. Birds and animals that are imported do not have any kind of protection.
(E) Itis high time the law is amended to put a stop to illegal trade in all endangered species, irrespective of their origin.

(F) In such cases, the onus is on state governments to keep tabs on sale of endangered species.

hi Passage
= (A), (B), (C), (D), (E) 37T (F) T 30 ¥g AATEAT o0 I3 Bl FAAT FT TH Y0l T=83 a4 AT

(A) =H TETE T AT 99 F oI STasiisT F:aw 3510 A7 72 2

(B) #1979 H gU WA e &9 % HTfoheaTa 21X § 1 @19 aTd g5 Teel A8 o6 a<h % (7 (P07 Teqel HIa¥ & HAT HT 3T 317 AL AT &
T T2 ToAGTS A JGAF T 327

(C) Thra =g g 3 ot faa Gt sir=fierar % arer oft e 81 o a1 Sefy mgrear § s efy 921 o aret

(D) =H IR F TH YA T | Irg 4 FHI14T Fl 30 FET GAT 3 [ I8 AT T a7 Al (9 a2

(E) T gF a1 UAT HHT A1 AT #9110 (eTavHe & 918 9T I 70 ATe aTedi & [ai I IS FAT 2l

(F) =g aTd F 24 T QAT g 03q aror da 7 8 T3 st af=m dgere  Rerawdie i a1 =a @ 8l

Q-136  Which of the following would be the SECOND sentence after rearrangement?
eng

01. B 02. A
03. E 04. F
05. D

Q-136  Terier &1 AR F AT, THLT ATHT i €T T2

01. B 02. E
03. A 04. F
05. D
Solution for Question 136 Ans Key: 5
The arrangement is BDFACE. The paragraph is about the proposed amendment in the Wildlife Act, 1972 and the reasons for the same.
Q-137  Which of the following would be the SIXTH sentence after rearrangement?
01. A 02. C
03. E 04. B
05. F
Q-137  SrErier &t GASHEEAT & AT], F2ST AT I 97 T2
01. A 02. C
03. E 04. B
05. F
Solution for Question 137 Ans Key: 3
eng The arrangement is BDFACE. The paragraph is about the proposed amendment in the Wildlife Act, 1972 and the reasons for the same.
Q-138  Which of the following would be the THIRD sentence after rearrangement?
eng
01. B 02. E
03. A 04. F
05. D
Q-138  Trrier it TAATEAT F 1=, FHIT ATHT Tl AT ZRI?
hi
01. B 02. E
03. A 04. F
05. D
Solution for Question 138 Ans Key: 4




eng The arrangement is BDFACE. The paragraph is about the proposed amendment in the Wildlife Act, 1972 and the reasons for the same.

Q-139  Which of the following would be the FOURTH sentence after rearrangement?

eng
01. C 02. D
03. B 04. E
05. A
Q-139  TErier T TAHAEAT & TR, AT ATHT FI 4T ZR1?
hi
01. B 02. C
03. D 04. E
05. A
Solution for Question 139 Ans Key: 5
eng The arrangement is BDFACE. The paragraph is about the proposed amendment in the Wildlife Act, 1972 and the reasons for the same.

Q-140  Which of the following would be the FIRST sentence after rearrangement?

eng
01. B 02. E
03. A 04. F
05. D

Q-140  TErier T [AHEAT F TS, TZAT ATHT I 9T T2

01. B 02. E
03. A 04. F
05. D
Solution for Question 140 Ans Key: 1

The arrangement is BDFACE. The paragraph is about the proposed amendment in the Wildlife Act, 1972 and the reasons for the same.

Passage for Question 141, 142, 143, 144, 145, 146, 147, 148, 149, 150 (ST-81 RRBBCL (121-130) 2014 7021)

eng Passage

Read the following passage carefully and answer the questions given below it. Certain words have been given in bold to help you locate them while
answering some questions.

Rising incomes, a growing population of young Indians and a greater willingness to spend on leisure have together given a boost to the amusement industry.
Most cities lack lung spaces and malls are emerging as the only entertainment-cum-shopping destinations. Amusement parks are seen as a welcome alternative. That
explains why Mumbai alone has so many of them — EsselWorld, Water Kingdom, KidZania, Adlabs Imagica and Nishiland.

Amusement park refers not only to a collection of dry and wet rides, snow parks and shopping malls, but also other entertainment options such as theatre and folk
dances in a defined space. Most large parks in India have opted for a one-price formula, with a single entry fee offering unlimited rides.

“Every year 15-20 per cent growth is seen in this sector— be it the expansion of existing parks or the setting up of new ones,”

The absence of large open spaces and entertainment options in the metros had prompted Wizcraft International Entertainment, to set up Kingdom of Dreams in
Gurgaon in 2010. Nothing like this existed in India before. Kingdom of Dreams boasts an elaborate arts, crafts, and culinary boulevard with street performers and
a Bollywood-themed café. Its auditorium and amphitheatre host live productions, including musicals.

On the flip side, amusement parks call for high investments and involve long gestation periods. This capital-intensive industry requires continuous investment.
“Entrepreneurs need to regularly introduce new rides to retain visitor interest.” That also explains why many parks have shut down over the last few years. A bigger
challenge, is in getting approvals for large land parcels as they are usually delayed, often until after work begins. As loans for amusement parks are a difficult
proposition, entrepreneurs end up borrowing at market rate, which is not feasible in the long run.

“Typical land parcels for parks are valued at a minimum of 25-30 crore. If land price goes up, some entrepreneurs feel it is best to cash out.
Most of the rides at Essel World , India’s biggest amusement park are imported. “The cost of bringing them into the country is very high. The duties and installation
and maintenance charges add to it, making both capital and operating expenses high.”

Some of the big imported rides can cost up to 40 crore. But the ticket prices barely cover these costs. At 1,500, a Wonderla ticket is way below Disneyland tickets
starting from $100 (6,000), excluding food, beverages and souvenirs. “Indians are way behind international peers in terms of revenue as they have to price their
entry tickets according to the paying capacity of the average Indian customer.

Essel World in Mumbai and Wonderla’s two parks in Kochi and Bangalore are operationally profitable. While 80 per cent of the revenue for Indian parks comes
from tickets, the rest is from food, locker rentals and photography. “In the West, this ratio is 50:50. So one needs to come up with methods to ensure more sales
within parks, such as through merchandise, to increase revenues as raising ticket prices is not much of an option.”

Wonderla has developed 40 of the 120 rides it offers in-house, including the roller coaster, water slides and SD theatre. This nearly halves the cost, proving to be a



huge saving as most rides cost upwards of 10 crore.

Although there is demand for more amusement parks, their future will depend on the speed at which they innovate. In coming time the amusement park will be more
interactive and will defy all laws of physics through digital mediums and park attractions will be condensed into mobile apps, integrating entertainment with daily life.
But till such time, park owners and entertainment seekers alike will continue to head out to the wide open spaces for a thrilling ride of their life.

hi Passage

Rt Terter T e q@e STeaqa= FIoT F T80 A1 (20 T W7 F 3T G101 A7 T 39T & THT ATT0! TgTaam & (o0 T Taat il L@iiohd
T T 21

AT g g T AT Fae At g SUSTE TS AHET ) ATdd § WA FRAT-HeTT gl F 98 g aTTHI F UF 3fer oy & saeart 2

T | T I ATAT agd-H1 THAT0 ST qragieg FT FT07 81 FATHFT 7 AT F FE Tgd-H1 ATEATE it 8| TAgrsa T AT Ieasi=: gAY Ararawo
#t A=t g # Suftad fagrsa T& o F o1 aTer TH19r 7 2t I A AT g1 FArasT 2T T9 g1 Tt & i sraesh fafor (eme Y=3em)
IATST FeaT g1 Persd T7 6T Ihg Tga- AT AT T TST ST, STATHT HT STAT, a1 61 FeTs A< 1T FTF & ST ST g1 Frafih Jarse st
T Sfta 7 aga SaArirar ot g1 7% 7 6 7 &1 a7 gA ¥l 7 IO a7 FH g1 SITUAT 1 T2t 92 Sfae 67 Foaar €7 721 7 ST Fai| JT Ss10
H afad: za afweunT F aqa gF it 99g 9 g ATt ArqmAret i AT § qREde g o R0 G T A1 aTel ThTer § THA F Q-8 IiEdy
BIAT TEAT | gt ¥ FeqT H Iiade: STl 517 g TATAAT 91 20 ol ST Tl & T a¥el & G & AT A1 T ATt F&T § TREa 2l T37 g1 T2T
AT AT | FIE § IRAqT § AT 2T G G & TR U0 F3 60 {7 H AL A2 1 Fha 1 gl SATARET oehie: Sarardt fFehel  weeasd agd-4i
FAETST T Haerdt & sf¥ el & ATarawer S (A=l adg T2 ST &1 STl 2| AT &7 o7 d: st 6w & arei % e o G0 Sfqqai & a7a g2y
TH ST S AT TRt g1 32 FT T FRHIT FgT ST1ar 1 UHY Swei=ht =<k it 7 T2t 8 o et sroft ol fRerpr & Se a2t & Y woreas efiv-ofiv

Tl

(Q-141 What are the challenges faced by amusement industry in context to the passage?

01. Difficulty in retaining the interest of the 02. Getting approval for large land parcels.
visitors
03. Missing of zeal among youth towards 04. Only 1and2

amusement industry.

05. All of the above
Q-141 \ISAT &l foFe FHEAT T ITLETAT HET ST 2T 82

01. S=HEaT Iig 02. T grsT IHT F S
03. {AETT THTI I 04. =T 3 ATIHE § I
05. IqTIeh T4T
Solution for Question 141 Ans Key: 4

The answer can be inferred from the fifth paragraph.

Q-142  Which of the following is a part of amusement park in context to the passage?

(A) Dry and wet rides
(B) Snow parks and shopping malls

(C) Theatre

(D) Folk dance shows

01. Only A andD 02. Only A and C
03. Only A, Cand D 04. Only A

05. All of the above
Q-142 f=fafad & & fFa araaiE 1 w0 981 971 S 95ar?

hi

01. TR T ey 02. saTerTEt faedie

03. i 2T T FT IS 04. ezt T Fear § qfiada

05. 1T ZofT & e+
Solution for Question 142 Ans Key: 5
eng The answer can be inferred from the entire passage.

Q-143 Why we Indians are far behind than international peers in terms of revenue recognition?
eng

01. Most of the slides used by Indians are 02. Installation and maintanence charges are very high thus leading to reduced profits.



imported.
03. Lack of skilled and trained worker to 04. Pricing of the entry tickets are done according to the paying capacity of the average Indian
operate and maintain the slides. consumer

05. All of the above
W ST 4T F IS H HIF HY FEAT A8t IAeart 981 82

Q-143
hi
01. Sfr=Tewt =T Sterrr 02. Yy Frr
03. 7 Y Fars 04. T i Fg T I ATl ATy
05. AT T FHeATeHT FT TN
Solution for Question 143 Ans Key: 4
eng The answer can be inferred from the seventh paragraph.
Q-144  Which of the following is the feature of Wonderla’ amusement park in context to the passage?
eng
01. 40 out of 120 rides of Wonderla are 02. Wonderla’s two parks in Kochi and Bangalore are making profits.
developed in house.
03. Wonderla’s pricing of tickets is far 04.  All of the above
expensive than that of this Disneyland.
05.  All except 3
Q-144 =3 A 239 T 7 IS g1 ar F4T OO gRIT?
01. gt = a7 7 SAATIF I 02. ¥ 3 THTT T GTAT T T AT A7
03. sereTEt farenie 04.  TZHIT T i
0S. gt o a7 7 SAATIF FAT
Solution for Question 144 Ans Key: 5
The answer can be inferred from the seventh and eigth paragraph.
Q-145  Which of the following statements is/are TRUE in context to the passage?
(A) Amusement park involves long gestation periods.
(B) Every year 15 to 20 percent growth is seen in amusement sector.
(C) 80 percent of the revenue for Indian parks revenue come from tickets, rest is from food, locker rental and photography.
(D) Park attractions will be condensed into mobile apps, integrating entertainment with daily.
01. OnlyA&D 02. OnlyB&C
03. All exceptD 04. All of the above
05. OnlyA&C
Q-145 <+ fasm & forw areier grm?
01. geeft 7 FerT & Heffaq s 02. gl T Hefg | "qAgT &5
03. gt i sfiafye adg g Hated fam 04, =T F Ttaer & gafaq s
05. &=t 9% S AT HeATA | Hated
[EEIC
Solution for Question 145 Ans Key: 4
eng The answer can be inferred after reading the passage carefully.
Q-146 What s the tone of the passage?
eng
01. Rhetoric 02. Persuasive
03. Informative 04. Cynical
0S.  Argumentative
Q-146 =i F HaH H FEfaiad § 9 F9 91/F 99 97 8/8?
hi

(A) T=HT G F THTL & TH ZIHT FaLh AT HT Jeasi FHedT gl
(B) &rft 3 Huie 781 ® afvads & g2t & aroar § 35 21 w1 8l
(C) SATATHET ¥ THFaTe ATAT HAGTSH T &2t & ATATEL0T il H=e(t qaqg T¢ STHT 2t &l

01. Fa=TA 02. 399 B



03. AsiTC 04. Faer C

05. aff ABTC
Solution for Question 146 Ans Key: 3
eng The Tone of the passage is informative as the passage describes and informs about various types of amusement industry.
Q-147 Choose the word most SIMILAR in meaning to the word given in bold, as used in the passage.
eng
Gestation
01. Ripening 02. Multiple
03. Cognitive 04. Evolution
05. Morphed
Q-147  T=rier § YN & AT 9T, L@ 9758 & [Hehedd GHIATET 2768 &1 I S|
hi
g
01. =ragTiiadar 02. IgreIaT
03. srSTaT 04. FrofaRaT
05. «rwgedr
Solution for Question 147 Ans Key: 4
For other options:
Morphed (ad;.)- modified
Cognitive (adj.)- involve reading and understanding skills.
Q-148 Choose the word most SIMILAR in meaning to the word given in bold, as used in the passage.
Defy
01. Disregard 02.  Apply
03. Endure 04.  Accept
05. Revive
Q-148  IT=Ti9r § TN 3 AT G, TG 9152 o (eheas qHTATET 8 T =7 Hifory)|
SYATAT
01. Icqer AT 02. SrTeT
03. g™ 04. <7 FTAT
05. 3ot SR
Solution for Question 148 Ans Key: 1

eng Dety (v)- openly resist or refuse to obey; disreagrd.

For other options:

Endure (v)- to tolerate

Revive (v)- restore to life or consciousness.
Q-149  Choose the word which is most nearly the OPPOSITE in meaning as the word given in bold as used in the passage.
eng

Leisure

01. Relax 02. Work

03. Comfort 04. Quiet

05. Ease
Q-149  T=rier H AN % SATLTY 9T, TG0 9763 % (Hehedd [aqarf &g &1 =799 Hifor|
hi

SILAT

01. 3T 02. FTgT AT
03. I T 04. qeT
05. T8 9T



Solution for Question 149 Ans Key: 2

eng Leisure (n)- time when one is not working or occupied; free time.

Q-150 Choose the word which is most nearly the OPPOSITE in meaning as the word given in bold as used in the passage.
eng

Boast

01. Bluster 02. Flaunt

03. Brag 04. Conceal

05. Show
Q-150  IT=rier § AT % SETY 9T, TG0 9762 % (Hahed® [Aqart &g &1 =939+ Hifor|
hi

TieweaaT

01. o 02. g

03. 3T 04. fagia

05. Freqfa®
Solution for Question 150 Ans Key: 4

eng Boast (v)- talk with excessive pride and self-satisfaction about one's achievements, possessions, or abilities; brag.

For other options-
Bluster (v)- talk in a loud, aggressive, or indignant way with little effect.
Flaunt (v)- display (something) ostentatiously, especially in order to provoke envy or admiration or to show defiance.

Passage for Question 151, 152, 153, 154, 155, 156, 157, 158, 159, 160 (ST-84 RRBBCL (141-150) 2014)
eng Passage

In the following passage there are blanks each of which has been numbered. These numbers are given below the passage and against each five
words have been suggested, one of which fits the blanks appropriately. Find out the appropriate word in each case.

India has cut royalties that local seed companies pay to Monsanto Co. for the second time in two years, potentially fuelling another row with the U.S. company that
(A) to leave the South Asian country. Ministry of Agriculture & Farmers Welfare has decided to reduce (B) paid by Indian seed
companies to Monsanto for its genetically modified (GM) cotton by 20.4 per cent, said a government order released. In 2016 the Agriculture Ministry cut
Monsanto's royalties by more than 70 per cent, triggering a long-running (C) that drew in the Indian and U.S. governments. “It is unfortunate that
today's order further erodes trait fees (royalties), which are now less than 0.5 per cent of the cost of cultivation, while the technology continues to provide
(D) to farmers across India,” said a spokesman for Monsanto's India joint venture, Mahyco Monsanto Biotech (India)(MMB).

Cotton has been a success story (E) Indian agriculture with a sharp jump in both output and exports, the MMB spokesman said, but noted that the
sector (F) a predictable business environment to attract investment. As well as cutting Monsanto's royalties, the government also lowered the prices of
GM cotton seeds by 7.5 per cent to Rs.740 ($11.39) for a packet of 450 grams to help farmers who are struggling with pest infestations. Reuters last week
reported the government plan to cut Monsanto's royalties and lower the prices of GM cotton seeds. Farmers buy GM cotton seeds from Indian seed makers who
pay to use Monsanto's proprietary technology to produce them. Producers body, the National Seed Association of India (NSAI), threatened to halt supplies to 8
million cotton farmers to protest the planned move to reduce seed prices. “The new, low price would (G) impact seed supply and seed availability this
year. And also next year's seed (H). NSAI may even file a writ petition against the government decision. Seed prices have fallen since 2011 but fuel,
labour and other supply chain costs have risen. “NSAI advocated for an increase in cotion seed prices o at least 150 rupees a packet. But the idea was ignored,”
he said. Last year the government kept both the royalties and the retail prices of GM cotton seeds (I). More than 90 per cent of India's cotton crop is
genetically modified. In 2017/18 India's cotton output is set to rise by 9.3 per cent but still short of the record high (J) by industry analysts because boll
worm caused damage in some regions.

hi Passage

#=r fa o ofv=em # % o v ge f o § o o= ey et & gertan s g1 3 et aftsag A gl €, $e wels w A (1), (2), 3).4)
A (5)faeen fIu e €)1 =9 il § § w7 U 29 R w2 i @ I=eE F 919 § ST #7999 FAT 8

TF TET TETART Faq g TRl O oI & g0t 7 U AT (A) T TM7 24T SIS IT A FAT FT (B) FLH T FS ASTHRIT T AT Toohel ¥ T
ST AT H SATAT | ST FIGAT o6 ST0T Al Al AT, AT (C) 37T FEFfT T asig & ITHT T STad H2HT &1 AT g1 THH FATAT T a1 JT ATATE
T F2 AT T ST STITer &7 &SI (23T Sruam| w=ifET ff v var sty g, o fY (D) F7 StEr 9% 81 STaT 8 oY 19 8 SA7aT (B) 781 8
AT ST 1S T il T I FAT 2, a9 39 (F) & T a1 2, A0 a8 % 30 020 67 (G) g ahe % S0 qohe| gl FHI-FHT a7 9gd a7 &l
STt 3| faeett & Ff=a et 7ez wie # rarafei T 7 g % ar2 S stawreft 1 (H) & 51 7ehh T 9iadq 9gad o7 §, T8 ST g 14 qfor,
“ATAITIOrRT T FHTST & (1) T2 STRTT F1 SOl 3 TOrRT o7 =27 a7 bl hforer & S fSreerd siiT Saaag =T St =y 8, g ST Tohel [ &l 5
AT FET AT g1 FILAT TR 6 FT EF THTS, FLHL T 77 FEAEL 6 Grae & qaa # HT (J) A7 ST 2l

Q-151 Choose the correct option for (A).
eng

01. threatened 02. prescribed



03. described 04. finalized

05. monitored

Q-151 (A) F forT w21 fasheT &7 =737 1)

hi

01. 3rq<0y 02. 3xf=Te

03. 3IUIhH 04. srefiear

05. 3R
Solution for Question 151 Ans Key: 1
eng For other options:

Prescribe (v)- To set down as a rule or guide
Shock (v)- startle
Monitore (v)- watch carefully

Q-152 Choose the correct option for (B).
eng

01. tuyrnover 02. motivation
03. system 04. royalties

05. termination

Q-152  (B) % for¥r =gt forereT &1 59+ #:3)

01. f=me 02. =rafera
03. =t 04. =Fory
05. Tudq
Solution for Question 152 Ans Key: 4

For other options:
Turnover (n)- coup, innovation, insurgency

Q-153 Choose the correct option for (C).

01. trade 02. feud
03. wealth 04. banking

05. nuclear

Q-153  (C) & forar W&l Ao &7 =737 F

01. farqerar 02. faguar

03. e 04. fFowar

05. =rargTT
Solution for Question 153 Ans Key: 2
eng Feud (v)- quarrel, fight, argue, bicker

Q-154  Choose the correct option for (D).

eng
01. income 02. flow
03. story 04. value
0S. multitude

Q-154 (D) = o =21 fased #7739 F2|

hi
01. = 02. wgT
03. Wi 04. 7ar
05. T

Solution for Question 154 Ans Key: 3

eng For other options:

Multitude (n)- large group

Q-155 Choose the correct option for (E).



eng

01. at 02. with
03. by 04. for
05. n

Q-155 (B) ¥ forT =t fased &1 =9+ 3

hi
01. =T 02. st
03. He18 04. H==
05. =T

Solution for Question 155 Ans Key: 4

eng As per the sense of the passage, 'for' is correct.

hi afford

Q-156 Choose the correct option for (F).

eng
01. generated 02. volunteered
03. considered 04. checked
05. needed

Q-156 (F) = fordr 9t faereT &1 =9+ #:7

01. ==z 02. 9T
03. T 04. 3refiqar
05. wofiear
Solution for Question 156 Ans Key: 5

For other options-
Volunteer (v)- work for an organization without being paid.

Q-157 Choose the correct option for (G).

01. definitely 02. curiously
03. previously 04. shortly

0S.  dubiously
Q-157 (G) = oy #&l fased #1739 F2|

01. forre 02. Ty

03. FHTHET 04. forferq

05. |7
Solution for Question 157 Ans Key: 1
eng For other options:

Dubiously (adverb)- doubtfully

Q-158 Choose the correct option for (H).
eng

01. unfortunate 02. production
03. misfortune 04. contamination

05. revolution

Q-158 (H) ¥ forr 92t oo 1 =9+ F2

hi
01. TFrE 02. TT
03. #grIar 04. FReraT
05. FFqurar
Solution for Question 158 Ans Key: 2

eng For other options:



Misfortune (n)- disaster
Contamination (n)- corruption

Q-159 Choose the correct option for (I).
eng

01. largely 02. changes
03. fiul 04. refuted

05. unchanged
Q-159 (1) F ford 7t fashe &7 =7 T

hi
01. AR 02. srEEfiear
03. srErEanT 04. FHreUTT
05. waaaefierar
Solution for Question 159 Ans Key: 5
eng For other options-
Refute (v)- prove (a statement or theory) to be wrong or false; disprove.
Q-160 Choose the correct option for (J).
01. profound 02. found
03. predicted 04. dedicated
05. preferred
Q-160 (J) F forT H&t fasfe &7 =727 T
01. =@ 02. e
03. fRadT 04. TTEAT
05. T
Solution for Question 160 Ans Key: 3
For other options:
Profound (adj.)- intellectual
Q-161 Which key deletes the character to the right of the cursor?
01. Backspace 02. Delete
03. End 04. Home
05. None of these
Q-161 7T ¥t 350t e 371 i a7feT iy fovereft 29
01. =09 02. f=fie
03. zue 04. Zrw
05. it i ArE A
Solution for Question 161 Ans Key: 2

eng Delete key deletes the character to the right of the cursor.

hi fSefte Foft FFe T FHL F qM(eq 7 e gl

Q-162 What should be used if a company wants to include its company name and logo at the bottom of every page of a brochure?
eng

01. Header 02. Macro
03. Footer 04. Footnote

05. None of these
Q-162 T ST T AT ST AT U FT AT FAT F7 A AT @RI FT T AT F T0F 9 5 q T AT FAT A2 8 2
hi

01. ¥=% 02.
03. < 04. T



05. =% A IS T2

Solution for Question 162 Ans Key: 3
eng Footer add text or logo in bottom of every page.
hi e T UST A9 2 AT AN ST 2l
Q-163 is an event-driven programming language developed in the early 1990.
eng
01. C 02. Visual Basic
03. C++ 04. Pascal
05. None of these
Q-163  —---ooee- T Zave fga TR 99T 2 ST 1990 # faawfE &t it 21
hi
01. C 02. fasper ate®
03. C++ 04. UTEReT
05. =it i S
Solution for Question 163 Ans Key: 2
eng Visual Basic is an event — driven programming language.
fasperet aff UF A soTEad TR 9T 2
Q-164 Linuxisa
01. Utility program for peer-to-peer file sharing 02. Real-time operating system
03. Network operating system 04. PDA platform
05. None of these
Q-164 oo TFH---mmomm- 2l
01. ferzdrr wEaamrF & om 02, foer arew sifeT e
PClECII I
03. Feae stoefes fawen 04. T Few
05. =zt i 7S Y
Solution for Question 164 Ans Key: 2
eng Linux is a real time operating system.
forerT we Rt erew stoR e fawew 2
Q-165 The computer runs the front-end applications software in a network.
01. Client 02. Database
03. Server 04. CPU
05. None of these
Q-165 - FFAET TEqHh § Tore v UTA el HIFead¥ FATdT 2l
hi
01. =TS 02. STaraE
03. Fax 04. =Hidrg
05. =it i 7S Y
Solution for Question 165 AnsKey: 1

eng Client computer runs the front end application software and server computer runs the back end software.
hi FATEE FFAEL Tid TUE UCADAT AT T FId & ¥ Ta¥ I TUE qrFeda? I FH7d 2l
Q-166  Which of the following is used for close a tab on a browser?

eng

01. Ctl+T 02. Ctrl+W
03. Ctl+A 04. Ctrl+Y
05. None of these



Q-166 7% 5 ¥ 9 AT IT 38 Tl a1 F [oIT TART AT 1T 282

hi
01. Cul+T 02. Ctrl+W
03. Ctrl+A 04. Ctrl+Y
05. =z T AT A
Solution for Question 166 Ans Key: 2
eng Ctrl+W is used for close a tab on a browser.
hi Ctrl+W SIS 9% 29 &l &@ ¥ & (o1 AR 77 ST 21
Q-167 Each computer in is also identified by a IP Address which is unique among the computers in that
eng
01. Internet 02. Intranet
03. Extranet 04. Ethernet
05. None of these
(08 [y AR— H T FOLST T AET TSH FIT G TZATAT STTAT @ ST G mmmmmmmmmmmmme H FOE F forg AT BT 2
hi
01. Zzvae 02. 2T
03. TFEEE 04. oAz
05. =% TS TR
Solution for Question 167 Ans Key: 2

Each computer in intranet is also identified by a [P Address which is unique among the computers in that intranet.

et H Todd HFAE Fl S8 o USH GTT TgATAT 1Al ¢ ST 39 32i+e | I gial gl

Q-168 Which of the following displays the list of websites visited by you in last few days ?

01.
03.
05.

Status bar 02. Task bar
History list 04. Tool bar

None of these

Q-168 & ® & =1 &, fueet F= foAl # sa 5127 3@t 7 Saarze; & =1 g2iha FLar s ?

01. 229X 02. &R IIT
03. 2= foree 04. zT o™
05. =i & A
Solution for Question 168 Ans Key: 3

History List displays the list of websites visited by you in last few days.

el foree, %= foat # fAfSe 5 gu agmmset #it foree w=fda Fzar g

Q-169 Inthe original ARPANET, were directly connected together.
eng
01. IMPs 02. Host computers
03. Networks 04. Routers
05. None of these
Q-169 T ARPANET #, -----nmmmmm- HTE T A1 2 g A
hi
01. IMPs 02. gz Fgew
03. e 04. T3
05. =% A FTE ALY
Solution for Question 169 Ans Key: 1
eng In the original ARPANET, IMP(Interface Message Processor)were directly connected together.
hi T ARPANET 3 IMP(Interface Message Processor) =i us | 92 gu 21

Q-170  Which is the valid data type in Access?

eng



01. Text 02. Currency
03. Number 04. All of the above

05. None of these
Q-170 TUHH ¥ FT AT ST THL &2

hi
01. zoFee 02. =¥t
03. /=T 04. IIE Tt
05. =t o
Q-171 A motherboard is a
eng
01. central chip that processes instructions 02. permanent storage device
03. case containing all internal system 04. circuit board containing the CPU and RAM
components

05. None of these
Q-171 TUF AIEATE ---mmmm- graT

hi
01. = RO TR TET Fdre 02, wyrly =R Rarsa
03. F+t stiafie e SuFont F 4<F #9 04, Fi oY 30 4<% afhe ars
05. =% ¥ FIE 721
Solution for Question 171 Ans Key: 4

A motherboard is a circuit board containing the CPU and RAM.

TF HETATE HI917 37T 3T/ I UF dihe a1€ &l

Q-172 A stylus would most likely be used with a

01. PDA 02. Mouse pad
03. Trackball 04. Digital camera
05. None of these
Q-172 U wIEAq g9 AT GAMAT T & -------- o T ITART (64T ST 2
01. T 02. w3 &<
03. =t M, =7 e
05. =a# T Hrs Aol
Solution for Question 172 Ans Key: 1

A stylus would most likely be used with a PDA.

hi U T T T ST TATIAT g 1o ag TS0 & A1 ITART THIT ST T 21
Q-173  Which of the following is a read only memory storage device?
eng

01. CDROM 02. Floppy Disk

03. Hard Disk 04.  All of the above

05. None of these
Q-173 FHH T A T AT THRT TR ar29 872

hi

01. = 02. w1y feen

03. z7$feew 04. I &Y

05. zerif &
Solution for Question 173 Ans Key: 1
eng CDROM is a read only memory storage device.

hi HIET T 2 et AR F2S [T 2l

Q-174 Whatis the short cut key to highlight the entire column in MS-Excel?
eng



01. Ctrl +Page Up
03. Ctrl +Space Bar
05. None of these

02.
04.

Ctrl +C
Ctrl +Enter

Q-174  THUH T H HYOT FiTH T FTEATEE LA % for arfdshe Fsil 7 52

hi
01. Ctrl +Page Up 02. Cul+C
03. Ctrl +Space Bar 04. Ctrl + Enter
05. =% T 1S TE
Solution for Question 174 Ans Key: 3
eng Ctrl +Space bar is the short cut key to highlight the entire column in MS-Excel.
hi Ctrl + Space bar w1 eadiet 3 2yt i B sIScise Bl b o siicwe ol 3l
Q-175 Which of the following is a programming language?
eng
01. MS-Excel 02. Lotus
03. Netscape 04. Pascal
05. None of these
Q-175 5= 5 & & t U TR AT9T 22
01. THUH TFA 02. e
03. Fewaq 04. wTERT
05. =% ¥ FIE 721
Solution for Question 175 Ans Key: 4
Pascal is a programming language.
TEhet Weh STUTTHAT ST 2
Q-176 Inadatabase, a field is a —----- .
01. Lable 02. Table of information
03.  Group of related records 04. Category of information
05. None of these
Q-176 =e1eH H, Hies UH----gl
01. ofaer 02. Zae AT THIAIT
03. wafaT Rewted #7179z 04. ZRIFer T 2oft
0. gl i 1S E
Solution for Question 176 Ans Key: 4
eng Database field is a category of information.
hi TTeTad | hiee Aftared RS % a9g #7 247 2|
Q-177 A fault in a computer program which prevents it from working correctly is known as -------
eng
01. Boot 02. Bug
03. Biff 04. Strap
05. None of these
Q-177 FFHET TUTH | TF 21T S 37 Tel & F FTE HT & UHAT &, JH -------- Fgd &8l
hi
01. e 02. &
03. fe 04. Ty
05. =% FFTE T2
Solution for Question 177 Ans Key: 2

eng A fault in a computer program that prevents it from working correctly is known as Bug.



Q-178 A set of step-by-step procedures for accomplishing a task is known as a(n) —-----.
eng

01. algorithm 02. hardware program
03. software bug 04. firmware program

05. None of these
Q-178 T FT &1 T F2A & Forw 7 F1% #T THAT FT TH HE--moo-- F ® T H STET SATAT 21

01. weTIT=R 02. e TR
03. #iTzagT aw 04. FHTT T
05,z & 78 7
Solution for Question 178 Ans Key: 1
eng Algorithm is a step by step solution of any problem.
hi TANTH T ot J9eT F7 #267 918 29 g 81
Q-179  The main directory of a disk is called the......... directory.
eno
01. root 02. sub
03. folder 04. network
05. None of these
Q-179 =% FT HF SHHCL Fl -mmmommmemeem T Fgl ST 2
01. == 02. 99
03. =T 04. Feah
05. =% ¥ FIE 72T
Solution for Question 179 Ans Key: 1
Main directory is known as root directory.
A TTAAFAT T2 STALHSAT FgaTdt gl
Q-180 A......... is a collection of data that is stored electronically as a series of records in a table.
01. spreadsheet 02. presentation
03. database 04. web page
05. None of these
Q-180 - T TTET T U §Ug g ST qTerehl § VIS il UF @1 6 €9 § Sofaai (v qaadh § SUgrd (a1 STt gl
01. ==efte 02. woreer
03. =TeTeH 04. TS
05. i TS
Solution for Question 180 AnsKey: 3

eng Data base is a collection of data stored in electronically table.

hi TTET 99 TAFEI T S H FEIT 1T &1 §9g rav gl

Q-181 When you create documents, graphs and pictures your computer holds the data in—
eng

01. Restore file 02. Backup drive
03. Clip board 04. Memory

05. None of these
Q-181 S T StFgHwe, ITF i == 91T § T SIHT FHET - ---- H STeT YT F7AT 2
hi

01. wrza e 02. AT ITA
03. Fgars 04. T



05. =% F AL T

Solution for Question 181 Ans Key: 4
eng Memory hold the document, graphs and pictures created by user.
hi TS F I a1d T SRHe, I 97 foar st 39T gres F2dt 2l
Q-182  Allare included in removable media except the—
eng
01. CD-ROMs 02. Diskette
03. DVDs 04. Hard disk drive
05. None of these
(05 . J— T BT Tl Fogaae Hfifeam # anfa g1
hi
01. CD-ROM 02. fR&te
03. Nt 04. 2 fewmgrEa
05. = & s
Solution for Question 182 Ans Key: 4
eng Hard disk drive is not a removable media.
grefees Ragaee Hifear 987 8
Q-183 The CPU and memory are located on the ---------- .
01. expansion board 02. motherboard
03. storage device 04. output device
0S. display board
Q-183 CPU ST HH -----m oo a7 foura g
01. THFTa as 02. HaTArE
03. w=rw fRara 04. FSee RarEHa
05. ey ars
Solution for Question 183 Ans Key: 2
CPU and Memory are located on the Motherboard.
hi CPU 3T §Hi<T AEdls U 2id gl
Q-184 A letter, memo, proposal or other file that is created using Microsoft Word is called as---
01. Master 02. Slide
03. Document 04. Worksheet
05. None of these
Q-184 UF T, HAT, YIS IT 3177 HISA ST ATSAHHFE T STAN HT FATT TAT Fonmmmmmmmm FgT STAT 2
hi
01. HTE=T 02. #=rEE
03. =fagHe 04. Fefie
05. = & 78
Solution for Question 184 Ans Key: 3

eng A letter, memo or other file created by MS word is known as document.

hi T, HAT AT TAL HIedl S UH UH € G G418 T &, SR[HE Fgard! 2l
Q-185  Which of the following are parts of the CPU?

eng

Q-185

01. Secondary Memory 02. Control unit
03. Input device 04. Printer

05. None of these

e & & 1 =7 iy #71 Remr €2



01. FFvedy Gy 02. FeZrer 7

03. = fRarH 04. e

05. =% FFTE AL1
Solution for Question 185 Ans Key: 2
eng Contol unit is a part of CPU.

Q-186 Which is not the portable computer?
eng

01. Micro-processor 02. Calculator
03. Series Computers 04. Parallel Computers

05. None of these
Q-186 FIF Tead I Aol &7

hi
01. HTZHT ST 02. FeTFIAT
03. #H O FrgeT 04. 7T FoYT
05. gt & TS Y
Solution for Question 186 Ans Key: 3

Series computer are not portable.

Q-187  Which of the following statement is false?

01. You can set different header footer for even 02. You can set different page number formats for different sections
and odd pages

03. You can set different header footer for first 04. You can set different header and footer for last page of a section
page of a section

05. None of these
Q-187 [wforfad | & F19 &7 FF Toq 82

01. 37 89 T fAuw I9i & fOru serTtgse 02, ST ST STelT At & fol STeRT I F¥Y HITHe 9 HY 99hd &

ReT HE FTHHA &
03. 3T HFA & T2 U & (AT AAT g 04, ST HaFA o AT UST & (1T ST g2 AT |e? e HY Tl &
REX HT FY HHA &
05. =% F#Hre A5l
Q-188 ——————— shortcut key is used for Bold highlighted selection.
01. Cul+B 02. Cul+A
03. Ctrl+C 04. Cul+Z
05. None of these
Q-188 - gTEFE FSTT T TR ZTEATEE HAFIT FT ATeS o1 AT 1T 2|
hi
01. Cul+B 02. Cul+A
03. Cul+C 04. Cul+Z
05. =% T FIS AT
Solution for Question 188 Ans Key: 1
eng Ctrl + B shortcut key is used for bold highlighted selection.
hi Ctrl + B glidaoe @poil DI URIPT SISelSes Aciaglel @l dlcs ol B fere favar i 3l

Q-189  Other folders, named subfolders, can remain in the folders while creating hierarchical structure—
eng

01. Mini folder 02. Tread folder
03. Subfolders 04. Object
05. None of these



Q-189 eI TFAT —omomee- T AT 2 HHT ST Rieey, AT Tahies? wiee? § g1 T8 99 2l

hi

01. AT Fe=x 02. T HieeY

03. I Fies< 04. 3sfissoe

05. it & ATE A
Solution for Question 189 Ans Key: 3
eng Other folders, named subfolders, can remain in the folders while creating hierarchical structure subfolders.

hi BTl TgaFa< FT (HHI0 FXd THT T HIeeT, ATTHT HaheeT, BIee § &l T8 Fahd 2|

Q-190 The following are included in the word program............. Title Bar, Ribbon, Status Bar, Views, Document workspace.
eng

01. Window 02. Browser

03. Explorer 04. Website

05. None of these
Q-190 =Tz AR, Nad, ©ed a1, o, STFIHE THeq9 ---mm--- FE T H ertoer 0 1w 2|

hi
01. fFErs 02. T3S
03. TFEAT 04. FeTEe
05. =8 qFIE A5t
Solution for Question 190 Ans Key: 1

FOEE 0L, D000, D000 e D00, SO0, SO0 SOLE0E00L, COL00 PODE POLLLirin pon prrrs rorr fe rilid

The word program Window included Title Bar, Ribbon, Status Bar, Views, Document workspace.

Q-191  Which topology requires a multipoint connection?

01. Mesh 02. Star
03. Bus 04. ng

05. None of these
Q-191 ¥ ZATATSH § UF HEEl A13E FHelaeld i AA9THAT oIl 57

01. &9 02. =°
03. a¥ 04. 7
05. =H F TS TR
Solution for Question 191 Ans Key: 2

Star topology requires a multipoint connection.

hi T TALSI H T HeLl A3 FeFIT 6l SAALTFHAT gl &l

Q-192 A..... is an additional set of commands that the computer displays after you make a selection from the main menu
eng
01. dialog box 02. submenu
03. menu selection 04.  All of the above
05. None of these
Q-192 TH ., AT T UF AT T2 & ST qBT H F I FA 6 a1 Feg2L TI9q Feal gl
hi
01. =TT At 02. FaHg
03. Fg=Iq 04. 3T THT
05. =it i 7S Y
Solution for Question 192 Ans Key: 1
eng dialog box
hi ST T

Q-193  To delete and embed an object, first
eng



01. Double click the object 02. Select the object by clicking it

03. Press the Shift + Delete keys 04. Select it and then press Delete key
05. None of these
Q-193 U siteue F g2 o7 TEIES F ¥ U, wEer-
hi
01. fsorare U< gae (oot i< 02. {3FTeh i< Stiestere T 94 &Y
03. Shift + Delete Fs(T TaTH 04. =& =79 F 17 e fRefie At gare
05,z & 78
Solution for Question 193 Ans Key: 4
eng To delete and embed an object, first select it and then press delete key.
hi AfesFe Tl ZaTH ¥ TFISE FA % (10, Tgol 38 999 F ¥ {he feefie st g |
Q-194  Which language does MS-Word use to create Macros?
eng
01. Visual C++ 02. FoxPro
03. Access 04. Visual Basic
05. None of these
Q-194  FIF & ATIT THUH € HeAT I % foIT ITANT FAT 82
hi
01. fassre C++ 02. RieFEST
03. wFH 04. fasgsrer afer
05. =i & 7 T
Q-195 The communication mode that supports two-way traffic but only one direction at a time, it is ------- .
eng
01. Simplex 02. half duplex
03. duplex 04. multiplex
05. All of the above
Q-195  UF FRIAHAT AIEAH ST UF qHA H T I ¢t A1 et U gl [QT § AT F2Aq7 8 g ----- 2lal 2
hi
01. f¥werry 02. i gorF
03. goerr 04. FedtoorT
05. 3ureh Tt
Solution for Question 195 Ans Key: 2
eng The communication mode that supports two-way traffic but only one direction at a time is known as half duplex.
hi TE 9T HTEAH ST U T9T § 2 o <ftheh offohed ahael U &l (9T & 7T FdT &, BT%F Tooia FHgardT gl
Q-196 was the first network.
eng
01. CSNET 02. NSFNET
03. ANSNET 04. RPANET
05. None of these
Q-196  -—------ TEAT Feah AT
hi
01. CSNET 02. NSFNET
03. ANSNET 04. ARPANET
05. = & E TR
Solution for Question 196 Ans Key: 4
eng ARPANET was the first network.
hi ARPANET UBCT ocdds el
Q-197 How can you make the selected character superscripted?

eng



01. Alt+ Ctrl + Shift+= 02. Ctrl + Shift++
03. Ctrl+= 04. Ctrl + Shift+=

05. None of these
Q-197 & M7 FAAT FLFe FT ILEHE FT THd 57

hi
01. Alt+ Ctrl + Shift+= 02. Ctrl + Shift ++
03. Cul+= 04. Ctrl + Shift +=
05,z & 0 At
Solution for Question 197 Ans Key: 4
eng Ctrl + Shift + = make the selected character superscripted.
hi Ctrl + Shift + = FIT FLFT FT FALEHTE FAT 2
Q-198 A proxy server is used for performing which of the following task?
eng
01. To provide security against unauthorized ~ 02. To process client requests for web pages
users
03. To process client requests for database 04. To provide TCP/IP
access
0S. None of these
Q-198 Wit qa Faferted & & o 1 % "997ee & forg w2 T srar g2
01. Srfeed STARTwA e & FTEAT 2T F2 02, 3 U % forw grege e’ 1 T8 F2 % forg
03. Z=Ted o ITART & oIy arge e &1 04, FRfdi/smsdy yar= v % forw
T 2 % oIy
05. =% T FIS Al
Solution for Question 198 Ans Key: 1
A proxy server is used to provide security against unauthorized users’ task.
TTRAT T T AR, ST STARTEHATSN & 216 o AT GLeAT TSI Fdr 2|
Q-199 A@)..ccovvnnnnn.. contains commands that can be selected.
01. Pointer 02. Menu
03. Icon 04. Button
05. None of these
Q-199 el H AT 2 ¢ foreg #orere TR ST @avaT 21
01. wigex 02. ﬁT—([
03. =rsHia 04. T
05. Tt AE TR
Solution for Question 199 Ans Key: 2

eng A(n) menu contains commands that can be selected.

hi HY FHIE HT T@qT & 5 Ferre F6T Smar 2

Q-200 Inacomputer, is capable to store single binary bit.

eng
01. Register 02. Flip flop
03. Inductor 04. Capacitor

05. None of these
Q-200 TFFHIH ----- FRTer areaT foe w2 #33  forw a1 )
hi

01. o< 02. T FATT
03. ==X 04. Fuf¥e<
05. ZH FHTE T



Solution for Question 200 Ans Key: 2

eng In a computer, flip flop is capable to store single binary bit.

hi TF Foge? § T oty et arsay foe &1 #2 % fore aem 2




